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Question Number : 1 Question Id : 630680364412 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DSBS TAN JEL© 27T RO & BERVD 3B 3 ST° § [ en DB )eoN?
Options :

1. ¢ FDOD HSEe5 e

2. % BohE HSByS e

3. % ©BoNE HAKB )

4. % J0°00008).0

Question Number : 1 Question Id : 630680364412 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which type of reproduction involves the formation of new plants from non-reproductive plant parts?
Options :

1. ¥ Vegetative reproduction

2. % Sexual reproduction

3. # Asexual reproduction

4. % Pollination
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Question Number : 2 Question Id : 630680364413 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of Chlorophyta?
Options :

1. ¥ Storage of reserve food as starch

2. % Sex organs are unicellular

3. ¥ Preponderance of Chlorophyll a and b

4. ¢ Formation of flagella for locomotion

Question Number : 2 Question Id : 630680364413 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

531808 S FF DR (635009 3H0) ©F 0 S IE?
Options :

1. % 82355 €555 DT D)™ e ¢ A0

2. % SoNE 9500370 ¥ SPETre

3. % DS a 085N b © ereh e

4. ¥ STIFPAS(@FIIO0) FH0 T DB

Question Number : 3 Question Id : 630680364414 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

JBFNES’ &8 TN S0P (& DeEI?

Options :
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Question Number : 3 Question Id : 630680364414 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is a significant role of algae in the industry?
Options :

1. ¢ Providing biofertilizers that can enhance soil fertility

2. % Serving as a primary source of meat and dairy products

3. % Producing antibiotics for medical use

4. ¥ Generating geothermal energy from deep-sea algae

Question Number : 4 Question Id : 630680364415 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&5 1808 575 TS0 SNOAN SBE DB Jdrard) H800d:

FES0 1: POR DT°EI0 PGB0 &) SES BHOS' EIDYNOA.
850 2: POR QU778 K §H0 (DSBS AT B&Y).
Options :

1. ¥ 1 DB 2 550 OB .

2. % 2850 1 S OBIA.

3. % 37850 2 SR DBIA.

4. % 1 08050 2 375750 OB 5°).

Question Number : 4 Question Id : 630680364415 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements and mark the correct answer for algae:
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Statement 1: Thallus organization is commonly found in these type of organisms.
Statement 2: Thallus organization lacks specialized structures for reproduction.

Options :

1. % Statement 1 and 2 are correct.
2. ¥ Only the Statement 1 is correct.
3. ¥ Only the Statement 2 is correct.

4. % Statement 1 and 2 are incorrect.

Question Number : 5 Question Id : 630680364416 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
531808 BSOS I 55y)?

A) 2PV BBI REY - DO Eea Fden.
B) ALY - 7SS TOAS SE(:350.
C) B&Er - T8DS) a OB c.
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Options :

1. % A BB

2. ¥ 330 C

3. % 3300 D

4. % A B, C 0O D

Question Number : 5 Question Id : 630680364416 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs is incorrect?

A) Bacillariophyta — Silica cell walls.

B) Phaeophyta — Fucoxanthin pigment.

C) Rhodophyta — Chlorophylls a and c.

D) Bacillariophyta — Alternation of generations.

Options :

1. % Aand B

2.9 Only C

3. % Only D

4, % A B,CandD

Question Number : 6 Question Id : 630680364417 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BSOS 2PN OGN €385 BE D000 &2 (06 HDOMNEIS SOEXTRIIE0 908 Job:

A) DEAS FPATD (D370

B) &© G30E) &S DAMHS®.

) SEEDS DA DT> Eed 1.

D) DD tI0DR0 08050 DT3B 353080 ©0e5T°000 EONOIHO.
Options :

1.¥ A,B,C,D

2.%D,C B, A

3.% B C,D,A

4.% C,A,D,B

Question Number : 6 Question Id : 630680364417 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following events related to harmful algal blooms in chronological order:

A) Increased nutrient runoff.

B) Overgrowth of algae.

C) Production of harmful toxins.

D) Fish kills and ecosystem disruption.
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Options :
1.+ A,B,C,D
2. % D,C,B,A
3.%# B,C,D, A
4.% C,A,D,B

Question Number : 7 Question Id : 630680364418 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%1808 ¢3S° BAS' 28 28 2BD0IEE F09S DOEOH NP0 HOG AT (5T N0E?
Options :

1. % 3T’ DE

2. ¢ DS

3. % Q58000

4. % H50°9)28D

Question Number : 7 Question Id : 630680364418 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What type of relationship involves one organism living off and obtaining nutrients from dead organic matter?
Options :

1. ¥ Biotropic

2. ¥ Saprobic

3. ¥ Symbiotic

4. % Parasitic

Question Number : 8 Question Id : 630680364419 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the term used to describe the condition when two different strains of fungi are involved in the sexual
reproduction process?

Options :

1. % Homothallism
2. ¥ Heterokaryosis
3. # Parasexuality

4. ¥ Heterothalism

Question Number : 8 Question Id : 630680364419 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

1. ® 23030230

2. % B8R0

3.8 o0 )OS

4. ¢ B 5O230

Question Number : 9 Question Id : 630680364420 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

D 3O 0[S DTT0 32y @ DENSDT DO e0¢3 AT TS BoAE 22030 S HENOE?
Options :

1. % Qi 83

2. % BFSeSor

3. ¥ @) DS

4. % 2VABrDEEI
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Question Number : 9 Question Id : 630680364420 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which fungal group is characterised by the formation of sexual spores in sac-like structures known as asci?
Options :

1. ¥ Mastigomycotina

2. ¥ Zygomycotina

3. ¥ Ascomycotina

4. % Basidiomycotina

Question Number : 10 Question Id : 630680364421 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

1. % 203rBHADHASES &HTerren

2. % 373y FsdsesE 3O oren

3. ¢ DSBS

4. % @3558 SSSvent 3doren

Question Number : 10 Question Id : 630680364421 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following fungal roles involves forming mutually beneficial associations with plant roots, aiding in nutrient absorption?
Options :

1. % Uses in bioremediation

2. % Pathogenic fungi in humans

3. ¥ Mycorrhizae

4. % Fungi as food sources

Question Number : 11 Question Id : 630680364422 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements about symbiotic relationship and mark the correct answer:

Statement 1: This type of interaction involves fungi deriving nutrients from dead organic matter.
Statement 2: Fungi in this interaction type establish a mutually beneficial relationship with plant roots, aiding in nutrient absorption.

Options :

1. # Statement 1 and 2 are true
2. % Only Statement 1 is true
3. % Only Statement 2 is true

4. % Statement 1 and 2 are false

Question Number : 11 Question Id : 630680364422 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
0TI (D72 59) D000 HBOD 0B ¢3S A DBIE?
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DN, DA TS HIFADD BT OW.

Options :

1. % 1 08050 2 arsesen AR0

2. % (DHEES 1 S D30

3. ¢ (DS 2 S D80

4. % 1008050 2 5750 @050

Question Number : 12 Question Id : 630680364423 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
&3 (808 °55°50 90 sDOAN AT DTG 1H800&k:
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Question Number : 12 Question Id : 630680364423 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements and mark the correct answer:

Statement 1: Reproduction in fungi always involves the formation of spores.
Statement 2: Heterothalism is a sexual reproductive strategy where a single fungal strain is capable of self-fertilization.
Statement 3: Heterokaryosis refers to the presence of genetically identical nuclei within a single fungal cell.

Options :

1. ¢ Statement 1, 2 and 3 are false.
2. ¥ Statement 1, 2 and 3 are true

3. ¥ Only Statement 1 and 2 are true
4. % Only Statement 2 and 3 are true

Question Number : 13 Question Id : 630680364424 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the features of Mastigomycotina with their corresponding descriptions:

Features Descriptions

A) Flagellated spores 1. Fungi belonging to this group often exhibit a primitive stage with meiotic spores

bearing one or more flagella.

B) Zoospore formation | 2. Reproductive structures of these fungi include zoospores, which are capable of

independent swimming.

C) Chytrids 3. This subgroup of fungi is known for its aquatic lifestyle and is commonly found in

water habitat.

D) Aquatic habitats 4. Members of this group, called chytrids, are an example of early diverging fungi

with simple life cycles.

Options :

1.¥A-1,B-2,C-4,D-3
2.% A-2,B-3,C-4,D-1
3. A-4B-2,C-1,D-3
4. % A-3,B-1,C-2,D-4

Question Number : 13 Question Id : 630680364424 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

1.¥A-1,B-2,C-4,D-3
2.% A-2,B-3,C-4,D-1
3.%# A-4,B-2,C-1,D-3
4. % A-3,B-1,C-2,D-4

Question Number : 14 Question Id : 630680364425 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2D ¢S TB|5E ©9DIHO 2383 8 Te(ROT) (500 GHTBFAOTHHR IS0 & (80B JHBFHOD
8006’ @8 y0d:

A) 85350 0BT FPAOTEN.

B) ar00r5e38S ).

C) 2B EDDAS.

D) (22570000 DO 889 § (DIBO%.
Options :

l.¥ A<B<C<D

2. % C<D<A<B

3. ¥ B<A<C<D

4 ¥D<A<B<C

Question Number : 14 Question Id : 630680364425 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following industries that utilize fungi in increasing order of their historical development:

A) Food and beverage.

B) Pharmaceuticals.

C) Bioremediation.

D) Brewing and fermentation.

Options :

1.¥ A<B<C<D
2. % C<D<A<B
3. ¥ B<A<C<D
4 ¥ D<A<B<C

Question Number : 15 Question Id : 630680364426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
1. % &e9 J0C85a30
2. % PN 0eS Eed €8 §ededn
3. % HAB$)E TS EHE0en
4.9 2P

Question Number : 15 Question Id : 630680364426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which extrachromosomal genetic elements are commonly found in prokaryotic cells and can carry accessory genes, such as antibiotic
resistance genes?

Options :

1. % Cell wall

2. % Nutritional types Cell membrane
3. ¥ Reproduction Ribosomes

4. ¥ Plasmids

Question Number : 16 Question Id : 630680364427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o> SEVOS EINOT (FHE 2308 DTP0 DE?
Options :

1. % 0257 I806S° DNA 218050 RNA

2. ¥ RNA S(¢hadd

3. % DNA S0°(¢h3

4. % 2re3S

Question Number : 16 Question Id : 630680364427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary genetic material found in most viruses?
Options :

1. ¥ DNA and RNA in equal amounts

2. ¥ RNA only

3. ¥ DNA only

4. ® Protein

Question Number : 17 Question Id : 630680364428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FnE S "Sro(B80e DHE” HOON "DMNEH)" S0E3 TV SENTRS AE 22890 D0 DE?
Options :

1. ¢ )BT 0O TR0

2. % DORT2rBST

3. % as§SVEY

4. % DSBS

Question Number : 17 Question Id : 630680364428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which group of microbes is responsible for causing diseases like "witches' broom" and "yellows" in plants?
Options :

1. ¥ Spiroplasmas and phytoplasmas

2. % Enterobacteria

3. ¥ Actinomycetes

4. % Cyanobacteria

Question Number : 18 Question Id : 630680364429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
&3 (808 °55°50 DBHEEI0N, DB D), N800k,
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Options :

1. % 505850 1 08350 2 €0 OB

2. ¥ 5850 1 e0830 2 e AT 5°)
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4. % 575850 2 Jr(ehadd OB

Question Number : 18 Question Id : 630680364429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements, mark the correct answer.

Statement 1: Plasmid is a structural component found in the cell walls of fungi and provides rigidity and strength.
Statement 2: A plasmid is a large, spiral, single-stranded RNA molecule that is distinct from a cell's chromosomal DNA.

Options :

1. ¥ Statement 1 and 2 are correct
2. ¥ Statement 1 and 2 are incorrect
3. ¥ Only statement 1 is correct

4. % Only statement 2 is correct

Question Number : 19 Question Id : 630680364430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R0ELO BBV TED0T AT, o7°¢3 050 577 (5006 @503 )08

A) @0ENEEYE); B) DFAES RS BAS; €) §68 aeF5een; D) DebeS (298a0.
Options :

1.¥ A>B>C>D

2. C>B>A>D

3. D>A>B>C

4 #B>A>D>C

Question Number : 19 Question Id : 630680364430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following modes of transmission of plant viruses in decreasing order of their efficiency:

A) Grafting; B) Mechanical inoculation; C) Insect vectors; D) Seed transmission.
Options :

1.¥ A>B>C>D

2. C>B>A>D

3.D>A>B>C

4. ¥ B>A>D>C

Question Number : 20 Question Id : 630680364431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which branch of plant taxonomy involves the study of the geographical locations where plants are found?
Options :

1. ¥ Morphology

2. % Structure

3. # Reproduction and life history

4. ¥ Distribution

9/68



14/09/2023, 11:28

Question Number : 20 Question Id : 630680364431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

1. ¥ Sroeyedd

2. % QU0

3. % HABSE 08O 28 e IO

4. ¥ HODB(BNTAS)

Question Number : 21 Question Id : 630680364432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

1. ¢ S0 )0e3Ar SR

2. % 23005000130 )

3. % BODO)

4. % S 2S)

Question Number : 21 Question Id : 630680364432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which group of liverworts is characterized by having thallose gametophytes and lacks a well-defined leafy structure?
Options :

1. ¥ Marchantiales

2. # Jungermanniales

3. # Metzgeriales

4. % Calobryales

Question Number : 22 Question Id : 630680364433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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0L DA D) A B DN GOEraw. SO e DP.

Options :

1. ¥ HEIOADD)Y

2. % FOE3ES)

3.8 M)

4. % 1200D)

Question Number : 22 Question Id : 630680364433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is an order of acrocarpous mosses which are usually small. The leaves are ovoid or lance-shaped and have a thin
nerve. The calyptra is large.

Options :

1. ¢ Funariales
2. % Polytrichales
3. % Sphagnales
4. ¥ Bryales

Question Number : 23 Question Id : 630680364434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
806 DO FNE ££923°0 HBO0DN 18OA 55N IAD DB N NPT thdosodk:
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Options :

1. ¥ 850 A D830 B €0 OB .

2. % 37850 A S5 DBID.

3. % 37850 B 3¢50 OBIA.

4. % 850 A DOA B 00 OB 5°).

Question Number : 23 Question Id : 630680364434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about xylem and phloem and mark the correct answer:

A) These are specialized water-conducting tissues in plants. One transports water and minerals from roots to other parts of the plant while
other transports nutrients, primarily sugars, throughout the plant.
B) They provide structural support of plants, allowing them to achieve greater height and maintain their overall structure.

Options :

1. ¢ Statement A and B are correct.
2. ¥ Only statement A is correct.

3. ¥ Only statement B is correct.

4. ¥ Statement A and B are incorrect.

Question Number : 24 Question Id : 630680364435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&5 1808 3°¢3 N0G H8A 755, H8odod:

1. 35°0°)0¢300S ) @ 'R OSSN SHBAW H|hDared OS85 Ten BoG0e3d O 0B (10 O30 .
2. 33°0°)0e3ADHS ) H|edASWed DT°2£90 EOB GO D23 D930 EAW 5208V EOA GO 2,8 WVENZTS
OV O &SoETow.

3. 507 )0¢300S ) T HAY, eSS0 EIDOT 2.8 BEFS T, SDOOKN €9 23T @839 E TOES S,
SP0C0 OO &V 5590 (DB ow.

Options :

1. ¥ 850 3 OB 5°¢0

2. % 3850 1 OBE 5°¢0

3. % or5egen 1,2 Q0805 3 00 OB

4. % rsegen 1,2 08AM 3 60 OB 5°)

Question Number : 24 Question Id : 630680364435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mark the incorrect statement from the following:

1. Marchantiales is a group of liverworts that includes both thallose liverworts and leafy liverworts.
2. Marchantiales are characterized by a flattened thallus that resembles a leafy structure but lacks true leaves and stems.
3. Marchantiales are a type of moss found in arid environments, and they exhibit a well developed system of roots, stems and leaves.

Options :

1. ¢ Statement 3 is incorrect

2. % Statement 1 is incorrect

3. % Statement 1, 2 and 3 are correct

4. % Statement 1, 2 and 3 are incorrect

Question Number : 25 Question Id : 630680364436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 1808 YO ae3 388 BTSN DT*5IBED (TNWH HHEBIS) (E00E” €908 0H:

A) DT DODEL0 TRY; B) (BFPONE b 1BS0e0; C) S’ S0P 9eradher T1; D) 08 RS
Options :
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1.¥B>A>C>D
2.%# A>B>C>D
3. C>B>A>D
4, # B>A>D>C

Question Number : 25 Question Id : 630680364436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following organisms in decreasing order of their economic and ecological importance:

A) Pollinators; B) Primary producers; C) Soil decomposers; D) Apex predators.
Options :

I.L¥B>A>C>D

2.%# A>B>C>D

3. C>B>A>D

4. ¥ B>A>D>C

Question Number : 26 Question Id : 630680364437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DOEDEFS & 2P0 0T €5¢5 ) HOON TSN 23°¢I5eh SIFNOE?
Options :

1. % BS'D

2. % 1grob

3.8 | PO

4. ¥ PO

Question Number : 26 Question Id : 630680364437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which part of a pteridophyte is responsible for the production and dispersal of spores?
Options :

1. ¥ Rhizome

2. % Frond

3. % Strobilus

4.+ Sorus

Question Number : 27 Question Id : 630680364438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2.8 & P50 EOR G0& DX, TS SEEN GO DIEDS ) ErGS 23 e O BOE 2 Do’
TE DT ON?

Options :

1. % S

2. ¥ SF/E

3. % IS

4. % B

Question Number : 27 Question Id : 630680364438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which group of pteridophytes includes species with microphylls, which are small, simple leaves with a single vascular strand?
Options :

1. # Psilopsida

2. % Lycopsida

3. # Sphenopsida

4. ¥ Pteropsida
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Question Number : 28 Question Id : 630680364439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0850 DOETSNOE ) SNWPSTOS ©DNYQ DB 9237590 TINEY 0 DO DS B D3O8 EeTINBR0E?
Options :

1. % 3°F 5530 DOETDO

2. ¥ I BBF)B HBeT0

3. % (688 HBeTNO

4. % JIFDS ) TBEY DOET00

Question Number : 28 Question Id : 630680364439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which significant development in plant evolution led to the origin of the seed habit and contributed to the success of seed plants?
Options :

1. # Evolution of a vascular system

2. ¥ Evolution of heterospory

3. ¥ Evolution of tracheids

4. % Evolution of microphylls

Question Number : 29 Question Id : 630680364440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs about pteridophyta are correct?

1. Rhizome — Stamen
2. Frond — Petiole

3. Sorus — Sepal

4. Prothallus - Anther

Options :

1. % land?2

2. % Only 2

3. % land 4

4. % 1,2, 3and 4

Question Number : 29 Question Id : 630680364440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BOEDEFE D00EOD &8 (808 BSOS’ I DBSE?

1. 38 - 3080

2. (D0& — D(€5ad 050
3. QFEQ — BE.EJ(50

4. 1O — HoESEo
Options :

1. % 108052

2. ¥ 335002

3. % 10805 4

4. % 12308050 4

Question Number : 30 Question Id : 630680364441 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DSTDIE DT HOET0 TB0EY, (0B €352 a7¢3 HOER S DENSNY (5006S @08 )08:

A) &8 51ED; B) TODEY; C) DYS DSE )
Options :

1.¥C<B<A

2.%#¥ B<C<A

3.% A<B<C
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4. % A<C<B

Question Number : 30 Question Id : 630680364441 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following stages of evolution in the sphenopsida group in increasing order of their complexity:

A) Equisetum; B) Calamites; C) Sphenophyllales
Options :

1.¥ C<B<A

2. % B<C<A

3.% A<B<C

4 % A<C<B

Question Number : 31 Question Id : 630680364442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DS e3> TBNEY Q DNTT0 T3 Y’ reren EON &0 TEY, I DB ED e35exn $0e3 D),
N® Braren $OAS JnEe §OA Goeran?

Options :

1. % V5B

2. % AOSA8D

3. ¢ 0D

4. % PBS)

Question Number : 31 Question Id : 630680364442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which group of gymnosperms is characterized by having tracheids in their xylem and includes plants with diverse growth forms, such as
trees, shrubs, and woody vines?

Options :

1. # Cycadales
2. % Ginkgoales
3. ¢ Coniferales
4. % Ephedrales

Question Number : 32 Question Id : 630680364443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S58ES e P EX00 TBEY  FPON 655065 AV BN €9¢55EE FPONES PEFDSEH HOTHHD D&
PPEN O ArDN0E?

Options :

1. % 380

2. % 500

3. ¢ | D

4. % Z00020

Question Number : 32 Question Id : 630680364443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which level of the taxonomic hierarchy is the most specific and represents individuals that share the highest degree of similarity?
Options :

1. # Phylum

2. % Order

3. ¥ Genus

4. % Family

Question Number : 33 Question Id : 630680364444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
020G OV B &) A0 EF5eYIAN eI BIERE g SO €532 DOETD ddFD IO S8
T2NS0E?
Options :
1. % TE3E JrSedsed
2. 8 S0 o8 gren
3. ¢ O
4. % 335808 DTN (9808 DOETN0)

Question Number : 33 Question Id : 630680364444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which principle is used in assessing relationships that emphasizes shared evolutionary innovations as evidence for grouping taxa together?
Options :

1. ¥ Phenetic similarity

2. % Analogous traits

3. # Parsimony

4. % Convergent evolution

Question Number : 34 Question Id : 630680364445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0ST° B0 FETFIES T°60EBe DOHSTSD (ICBN) TBBNEY (FONE SBI0 dE3?
Options :

1. ® 3080 50886 50 AANSFO DT YN TOANCEO.

2. % [08)0 (D237 SrP 853 @©0B0EB0.

3. % redess (DTrBre §H0 BE; D (FSre3E80tS0.

4. ¥ 30800 835 30| DB LTS AONSTOE 0A0TISO.

Question Number : 34 Question Id : 630680364445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary purpose of the International Code of Botanical Nomenclature (ICBN)?
Options :

1. % To establish rules for the classification of plants.

2. % To provide guidelines for plant breeding.

3. # To standardize plant names for commercial purposes.

4. ¥ To provide rules for the naming of plants and fungi.

Question Number : 35 Question Id : 630680364446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
EANB 0 (80 757500 THAS0E:

A) 88 INEFO HOTEPO DAY FTIBETOE) IR0 LOOTENNBEIOS DV TOLO.
B) &8 D03’ gy en ¢S ASToreS’ BOck )23 (98 $OR &otrow.

OB QIR 1H80h0&?

Options :

1. % rsesen A DO B e OB

2. % 5esen A OO B 00 OB %)
3. % 3850 A S(ehadd OB 5°¢%0

4. ¥ 32850 B S50 OB 520

Question Number : 35 Question Id : 630680364446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements for conifers:
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A) This plant group is known for its unique adaptation to arid environments.
B) Members of this group have two cotyledons in their seeds.
Mark the correct answer:

Options :

1. % Statement A and B are correct
2. % Statement A and B are incorrect
3. % Only statement A is incorrect

4. % Only statement B is incorrect

Question Number : 36 Question Id : 630680364447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 (808 575008 HBHEISE BNFO DB DSITrQ), 10050 &:

1. 236500 @R Eadd AT (H23°e3 SDBAW D2 BOBOL3E0T) DRYB DI B e gaex e ey En
&0T SOE5eS SSKS.

2. 000200 A €5 ED S0BAN 230§ & £ &GO H020EE (D2 DE Dadrsrom EOR &0
SOESer SSHS.

3. 335(15500) @A 5000278, D2FTTPOR DS GO OF TS ed PETFDSHE SO D00,

B0e0 023 SOESE SBKHD.

Options :

1. ¢ P5ege 2 08050 3 OB .
2. % r5esen 1 OO 2 OB
3. % 850w 1 S5 DBIA.

4. % psegen 1 08AW 3 OB

Question Number : 36 Question Id : 630680364447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mark the correct answer after considering the following statements:

1. Species is a taxonomic category that is broader than the genus and groups together organisms with similar characteristics.
2. Family is a higher taxonomic category that groups together related genera based on shared morphological and genetic characteristics.
3. The order is a taxonomic category above the family and groups together related families based on broader similarities in characteristics.

Options :

1. ¥ Statement 2 and 3 are correct.
2. % Statement 1 and 2 are correct
3. # Only Statement 1 is correct.

4. ¥ Statement 1 and 3 are correct

Question Number : 37 Question Id : 630680364448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the taxonomic concepts with their correct descriptions:

Taxonomic Concepts Descriptions
A) Monophyly 1. group that includes an ancestor and its descendants.
B) Paraphyly 2. group that does not include the common ancestor of the group.
C) Polyphyly 3. group that includes and ancestor but not all its descendants.
D) Taxonomic rank 4. a hierarchical level used to classify organisms based on shared characteristics.
Options :

1. ¥ A-1; B-3; C-2; D-4
2. % A-2;B-4;C-1; D-3
3. % A-1; B-4; C-2; D-3
4. % A3:B-1;C-2; D-4

Question Number : 37 Question Id : 630680364448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

DS wrddON T DJD DOowoF BT vyl

D950es 2PHDdO DDHOEIED
A) DSHb 1. Zypbeghen DBain & SFCv $BA &y Daro.
B) rord 2. HAWPDPO G0, FT0Es POV SDH Eocd Deriio.
0 J00d 3. rOgEbos SBD God ©0GW TPERLVI SBA Gotid Derrio.
D) ;;gscssa SR 4. &0l & VLD eSO Bapesn abgsaoac:v.‘aé EDAITNH0D SaTeR0ie gvcm
Options :

1.+ A-1;B-3; C-2; D-4
2. ¥ A-2;B-4; C-1; D-3
3. % A-1;B-4; C-2; D-3
4. % A-3;B-1; C-2; D-4

Question Number : 38 Question Id : 630680364449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RO 35000 TR0 (E0IDBES @038 1233 TS TOHDAEN, H0SE 0BG BNELE SFT® DESD
D0 AFDNOE?

Options :

1. ¥ 3°B)B80D0 (DAY S98.7°)

2. % Jp8 o0

3. % HQeven

4. % FerQES i)

Question Number : 38 Question Id : 630680364449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What term refers to a collection of preserved plant specimens, systematically arranged and labelled for scientific study?
Options :

1. ¥ Herbarium

2. # Floras

3. % Techniques

4. % Botanical Gardens

Question Number : 39 Question Id : 630680364450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 D2FeBdEL HOROEODN |FTRE TBEFD SrFPoOONTE, AESeFOITE DO DNV $85Se
B QDB &) AP0 €9 0NBNOE?

Options :

1. # 58580 8ex (Taxonomic keys)

2. % Qr8.2858den

3. ¢ 033580 B GIS

4. % 23r0)005

Question Number : 39 Question Id : 630680364450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which tool allows taxonomists to create, manage and analyze spatial data related to the distribution of species?
Options :

1. ¥ Taxonomic keys

2. ¥ Microscopes

3. ¢ Computers and GIS
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4. % Herbaria

Question Number : 40 Question Id : 630680364451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OZETOS’ BNBO FETFDLHD IR DERST ST 2865 DOETD 00T HBHEISESE BN IENH0¢E3 SOEBe
DS0 NE?

Options :

1. ¥ D38

2. % SBT3

3. % AT

4. % Q¢35

Question Number : 40 Question Id : 630680364451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which approach in taxonomy focuses on overall similarity in characteristics, often without considering evolutionary relationships?
Options :

1. ¥ Phenetic

2. % Phylogenetic

3. # Cladistic

4. % Systematic

Question Number : 41 Question Id : 630680364452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
5888 RS’ VTN H0220H0D) 80B BSOS’ DA HBDIE?

1. BEFZR - B D T°0ESE0
2. AVNE)- &THDE D253

3. 20380 )0N- F0EN02)800
Options :

1. % 10805 2

2. % 35003

3. % 33002

4. ¢ 3300 1

Question Number : 41 Question Id : 630680364452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs related to applications in taxonomic tools is/are correct?

1. Database - Binomial nomenclature
2. Cladistics- geographic distribution
3. Georeferencing- family

Options :

1. % land?2
2. % only 3
3. % only 2
4. ¥ only 1

Question Number : 42 Question Id : 630680364453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DETBDES JH0 H0D0E0D & [0 T HBHIS'E BNEFD OB DXIFETr), 100TI0E?

1. 9D 0EEOS QTR0 DBIT D30T .

2. F0EOS B0, K1) SHBA5N BF.69 DT DD OB (DT aF|eh FATON.
Options :

1. 1 08AW 2 OB
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2. % 1 S(¢hadd OB
3. % 2 Jr(ehadd OB
4. % 1 003 2 e OB 50

Question Number : 42 Question Id : 630680364453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements about phytochemicals, mark the correct answer:

1. These are naturally occurring compounds in plants.
2. They play a role in providing colour, flavour and defense mechanisms in plants.

Options :

1. ¥ 1 and 2 are correct
2. % Only 1 is correct
3. % Only 2 is correct

4. % 1 and 2 are incorrect

Question Number : 43 Question Id : 630680364454 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ARG 1D5G0 3 DD O 52, 0T (E00E (80 S8ESe0 Q205D @508 )0G:

A) STDSESE Derrrio; B) DOO(SF0); C) (800; D) EDS
Options :

I.¥* B>A>C>D

2.% B>A>D>C

3. 9A>C>B>D

4. % A>B>C>D

Question Number : 43 Question Id : 630680364454 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following taxonomic terms in increasing order of their inclusiveness according to Cladistics:

A) Monophyletic group; B) Phylum; C) Order; D) Domain
Options :

1.#¥B>A>C>D

2.%#¥B>A>D>C

3.9A>C>B>D

4. % A>B>C>D

Question Number : 44 Question Id : 630680364455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S5BEBer TBNEY (8O DTS H530O T°¢3 €989 B TBNEY SOESTOTEOM €98 YO &:

1. 9363 959%0; 2. 5723 959%; 3. D BTEIE 9539%; 4. DOET 53.
Options :

1.¥1,2,3,4

2.% 2,341

3.%1,3,4,2

4.% 4321

Question Number : 44 Question Id : 630680364455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following major systems of classification in chronological order of their development:

1. Artificial system; 2. Natural system; 3. Phylogenetic system; 4. Evolutionary system.
Options :
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1.¥1,2,3,4
2.% 2,341
3.% 1,3,4,2
4.% 4,321

Question Number : 45 Question Id : 630680364456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

050 SHOZ (DD TOA SN &, LA BT HOE (DT e FO0 GOITAOT BELEID  INEL
3000200 EDA G0oENO&?

Options :

1. ¥ Jrof O

2. % 358D

3. % e (Rutaceae)

4. ¥ QI

Question Number : 45 Question Id : 630680364456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which plant family includes members known for their aromatic leaves and often used for culinary, medicinal or aromatic purpose?
Options :

1. ¥ Mangoliaceae

2. % Malvaceae

3. ¥ Rutaceae

4. ¥ Lamiaceae

Question Number : 46 Question Id : 630680364457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R0E;OS 195°0¢8 [ Derass $6923°20 (SAM) TBNEY, (FPHONE DE De3?
Options :

1. % 5580 dodAed

2. % SFAO A8

3. % 375508 (80 o B8 9

4. ¢ QB05S §£9 25230 DO S &

Question Number : 46 Question Id : 630680364457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary function of the Shoot Apical Meristem in plants?
Options :

1. % Synthesis of hormones

2. % Storage of nutrients

3. ¥ Protection against pathogens

4. % Continuous cell division and growth

Question Number : 47 Question Id : 630680364458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What term describes the arrangement of leaves on a stem and is determined by the angle and spatial relationship between successive
leaves?

Options :

1. # Leaflet arrangement
2. % Leaf venation

3. ¢ Phyllotaxy

4. % Leaf morphology

Question Number : 47 Question Id : 630680364458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

5P0C0 Q0 €506 @OER & D0 DSIENO0E HBCIM VA HED 5O 0§ §e90 SHBASW (TR OO0
& $0° QPON0IVRS0E?

Options :

1% ODES 9088

2. % 8R0S ST 9008
3. ¢ SErs)

4. % | 58700

Question Number : 48 Question Id : 630680364459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DA I Seaerere DT YENE ORI §69 25235 HAON VEMHEIDED S TNEY & (050 2RSS SaPNOE?
Options :

1. % e &8

2% HBDHE S 55

3. % H5esd S

4. ¥ ErES DDESO DO W(SK @9 D2ress §eaee>0)

Question Number : 48 Question Id : 630680364459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which region of the root is responsible for cell division and growth, leading to the formation of various root tissues?
Options :

1. ¥ Zone of elongation

2. ¥ Zone of maturation

3. % Zone of differentiation

4. ¥ Root apical meristem

Question Number : 49 Question Id : 630680364460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
) DASTTBRE H0205H0D 808 35S A 230

1. &8 F083© 500000 &y e BTN "STT" B "ETer @000 @Q DOT (HBSED HA)
QT T $OH &0eTow.

2. & 50002063 RS FE e S & $T° DT HN0NT IS (DBEIS Q558892 (D8 )T 00.
Options :

1. 1 08a%w 2 Q230

2. % 2 S(ehad N0

3. % 1 Jr(ehad dB0

4. % 1008050 2 )

Question Number : 49 Question Id : 630680364460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true for Asclepiadaceae:

1. Members of this plant family often have unique flower structures known as "corona" or "corolla appendages".
2. Many plants in this family exhibit specialized adaptations for pollination by insects.

Options :

1. ¥ 1 and 2 are true
2. % Only 2 is true

3. % Only 1 is true
4. % 1 and 2 are false

Question Number : 50 Question Id : 630680364461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
Read the following statements and mark the correct answer:

1. The shoot apical meristem primarily produces root tissues and is responsible for root growth.
2. The shoot apical meristem is responsible for the primary growth of plants, leading to the formation of stems, leaves and flowers.
3. The organization of the shoot apical meristem is fixed and does not change as the plant grows and develops.

Options :

1. ¥ Statement 1, 2 and 3 are correct.

2. % Only statement 2 is correct.

3. % Only statements 1 and 3 are correct

4. % Only statement 3 is correct.

Question Number : 50 Question Id : 630680364461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 (808 55O VAR OB S sy H8osodk:

1. 570 JDES BRSO @9 Daxres§ E6a25°e20) (DN EOMT B §69237e D €reh)ed WO 0B I
REMEADEL 237565 SN0,

2. (D570 @ Daxress 8230 RNEL (PRANE MR 23°¢56d SN0, /E P00, 350N DO Yo e
DBIBEFIE TSRO,

3. 10508 @9 Deress 9230 AZNEY @N8E VBT GO BEY DRS00, BnEY AT I STS.

Options :

1. % 3750500 1,2 208050 3 @0 OBID.

2. ¥ 850 2 SR BIA.

3. % rsegen 1 0005w 3 X5eed a3 DB

4. % 37850 3 S OBIA.

Question Number : 51 Question Id : 630680364462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following leaf arrangements with their correct descriptions:

Leaf Arrangements Descriptions

A) Alternate phyllotaxy 1. Leaves are arranged in pairs at each node, opposite to each other.

2

B) Opposite phyllotaxy . Leaves are arranged singly at each node, alternating along the stem.

C) Whorled phyllotaxy 3. Leaves are arranged in groups of three or more at each node.

Options :

1. ¥ A-2;B-1;C-3
2. % A-3;B-2; C-1
3. % A-2;B-3; C-1
4. % A-1;B-3;C-2

Question Number : 51 Question Id : 630680364462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

22/68



14/09/2023, 11:28

& 300 DY BBV T VT DovBOE BB N

e95D DU":}QJ DHOERD

A) ese)dy &6 DeS’erdy | 1. esthen DA St DG LSTEIFT S DEOMTT 2T 90N\ E G0,
S3A) A} & A

B) 5§30S pS°ersy | 2. DA Srdi) HY eshen 2.8) 5O eNC\E, SPoto Doty ITTBTOTT E0EFO.

) Sg eS'erdy 3. 09 SeRY) DY AP GO° 0SS0 JE D DATDHOS’ LSERD RGN GO,
Options :
1. ¥ A-2;B-1; C-3

2. % A-3;B-2; C-1
3. % A-2;B-3;C-1
4. % A-1;B-3;C-2

Question Number : 52 Question Id : 630680364463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
35 ES Dezress $6927°20 T 1808 WO B ES 0B o3¢ 50 DADHERNS), 100 €908 )0

A) DBDE 568 (P0e50; B) TS |2°0¢50; C) §8a 25235 (ar0ed0; D) B 5°5.
Options :

1.¥ A>B>C>D

2.¥#¥B>C>D>A

3. A>C>B>D

4. ¥D>C>B>A

Question Number : 52 Question Id : 630680364463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following zones of the root apical meristem in increasing order of their position from the tip of the root:

A) Zone of maturation; B) Zone of elongation; C) Zone of cell division; D) Root cap.
Options :

1.¥ A>B>C>D

2. B>C>D>A

3. A>C>B>D

4. ¥D>C>B>A

Question Number : 53 Question Id : 630680364464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

D DEANS’ HTHS §F0 7> 8 100D 2Te DB IHT oW, BD TS DONE S HFIG BeNYeNT e9SHE
TOLHTON?

Options :

1. % HHA 00508 13

2. % JHr)d Fere e

3. % PG e

4.¢ 338208 DardaHo

Question Number : 53 Question Id : 630680364464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which process involves the formation of microspores within the anther, which later develop into mature pollen grains?
Options :

1. % Pollen germination
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2. % Pollen tube growth
3. % Pollen storage

4. ¥ Microsporogenesis

Question Number : 54 Question Id : 630680364465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

©0E3AHOS & T80 e3¢5 TR DE D EOB H0B HOAESE (DEANES ;S 0EN0E?
Options :

1. ® aSroedred Seren

2. % J35°A0 Seren

3. ¢ 30(& geTren

4. % 30|80

Question Number : 54 Question Id : 630680364465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which structure within the ovule contains the female gametophyte and is involved in the process of fertilization?
Options :

1. % Antipodal cells

2. % Synergids

3. ¢ Central cells

4. % Nucellus

Question Number : 55 Question Id : 630680364466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2.8 HE 8690 008 20 EOVFOW, TE H(E 5890 BO (C0 ToB5OE EO) (€370 & JOE )50
DEIBTHHR BEFOS’ (DBLERS (B0 DNE3?

Options :

1. # 2505 eddrere

2. % JoE)52 9Ny

3. ¥ O5DOQEB0

4. % J0°00008.0

Question Number : 55 Question Id : 630680364466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the unique process in plants where one sperm cell fuses with the egg cell, while another sperm cell fuses with two polar nuclei to
form the triploid endosperm?

Options :

1. % Self-compatibility

2. ¥ Endosperm development
3. % Double fertilization

4. % Pollination

Question Number : 56 Question Id : 630680364467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

90850 HOVHS Ere e3IEBOHTS VB30 0BG DHOITHS HEVB O HS0 ITFDNOE?
Options :

1. % 5086880

2. ¥ DB |57 0ed (Seed dormancy)

3. % DS 0508 )

4. % DB 38

Question Number : 56 Question Id : 630680364467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
What is the term for the condition in which a viable seed fails to germinate even under optimal conditions?
Options :
1. % Hybridization
2. ¥ Seed dormancy
3. % Seed germination

4. % Seed vigor

Question Number : 57 Question Id : 630680364468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DA 00508 e 80D & (o8 50 THBN0R:

1. DA Benhen 0mIaH0S INO TN HBAN JHTF)E FEFeD (Dard S3do oo Ser($oeS's
SHE"oW.

2. D) 00T S 9T D) TeYeN HFIG AT @DIHO T (DEOD, B 0ETFOH0 )
DEHB0E, BE 8 HOTBrH e, Lfg DSE$ID AT ETOE OO TONTAE €9 NBNO0A.

ABN 575, Hh80Hb0dk.

Options :

1. ¥ 30850 2 Se(ehadd OBID

2. % 7850 1 S BIA.

3. % rEgadnen 1 NOAM 2 e OB

4. % 308300 1 0OAM 2 €0 OB 5o

Question Number : 57 Question Id : 630680364468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about pollen germination:

1. Pollen grains germinate in the ovary and the pollen tubes grow into the stigma through the transmitting tract.
2. Pollen germination is the process by which a pollen grain develops a pollen tube that grows towards the ovule, allowing for the transfer
of male gametes to the female reproductive structures.

Mark the correct statement.
Options :

1. ¥ Only statement 2 is correct
2. % Only statement 1 is correct.
3. % Statement 1 and 2 are correct

4. % Statement 1 and 2 are incorrect

Question Number : 58 Question Id : 630680364469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 1808 ¢3S B st s HBood:

1. TP IFTBIVD 9T FEFOS i TPET D DB JRTHH (DECD.

2. Y5O HTEEFOS” DFFHTBIDR DS IS0,

3. DPFITBIDD 9T I Iy ed ©oEIAsTroeS 88T (HEAD, %) WroRNS0 $O Serren FFond
DD 55 ) TODEE § ONESE D258 S'Symrow, B DSIO8 e3¢h TR DE 0™ 9SO
TOLHTQW.

Options :

1. ¥ 57850 3 S OB

2. % PEgdnen 1,2 08aA 3 00 OB

3% 1 50050 2 SFS 0 HTID

4 % 2 58050 3 SPSD 903

Question Number : 58 Question Id : 630680364469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mark the correct statement among the following:
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1. Megasporogenesis is the process of forming male gametes in plants.

2. Megasporogenesis occurs in the anthers of flowers.

3. Megasporogenesis is the process within the ovules of seed plants where megaspore mother cells undergo meiosis to produce haploid
megaspores, which eventually develop into female gametophytes.

Options :

1. % Only statement 3 is correct

2. % Statement 1, 2 and 3 are correct
3. % Only 1 and 2 are correct

4. % Only 2 and 3 are correct

Question Number : 59 Question Id : 630680364470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following terms related to their correct descriptions:

Terms Descriptions

A) Triploid Endosperm | 1. The fusion of one sperm cell with the egg cell and another sperm cell with the polar
nuclei.

B) Double Fertilization | 2. The process where the central cell's nucleus fuses with a sperm nucleus to form a
triploid nucleus.

C) Polar Nuclei 3. The stage where the endosperm consists of individual cells with distinet cell walls.

D) Cellular Endosperm | 4. The nuclei that fuse during double fertilization to form the primary endosperm
mucleus.

Options :

1. ¥ A-2; B-1; C-4; D-3
2. % A-4;B-1;C-3; D-2
3. % A-4;B-3;C-1; D-2
4. % A-3;B-1;C-2; D-4

Question Number : 59 Question Id : 630680364470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 80bd DTV T 1JD DadeLd BTyl

ESlayiab] i beTelx 5]

A) Broné JofiyG) | 1. e Seod wE DyE) D dain e Sogsrod’ E'E 6 D swows.

B) czwed Heoxdsowmo 2. Doy e aIE), AgBOLD 6] Bogsod s Barand Sogsorr JoyE HE0H.

0) cyDSogisTeD 3. Jo&n6), DS St Heod VWod stror SN &) 9.

D) 2ejerd JoffinG) | 4. PGS JoN6) Bods D) IOYBIEIS e DOBECHo Paes” Hddo
DR Argdaien.

Options :

1.¥ A-2;B-1; C-4;D-3
2. % A-4;B-1;C-3; D-2
3. % A-4;B-3;C-1; D-2
4. % A-3;B-1;C-2; D4

Question Number : 60 Question Id : 630680364471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 ¢3S BT 235 DBTIVBAE DE?
Options :
1% 3)0)80S - red @30 HOESeD
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2. % HBESE - B ST 5 HOESeD
3. ¢ FONBAN - DB ITTRY, 3¢ DT OS Jeed HPoNSo
4. % JPOJBAS - D08 5T TRBE O e Bea TSN D25280tIB0

Question Number : 60 Question Id : 630680364471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is not correctly matched?

Options :

1. % Scarification — Acid treatment of
Seeds

2. % Stratification — Low temperature
Treatment

3. ¢ Fortification — Coating the planting material with inert substances

4. % Saccharifiaction — Breaking of complex
carbohydrates into simple
sugars

Question Number : 61 Question Id : 630680364472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 ¢3¢S° S AHDAIT) D0 I E?
Options :

1. # esren

2. % OJ G

3. % JBESK

4. ¥ THH

Question Number : 61 Question Id : 630680364472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an oil yielding crop?
Options :

1. % Mustard

2. # Linseed

3. ¥ Ground nut

4. ¢ Sugarcane

Question Number : 62 Question Id : 630680364473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DEYLSED Ty, (FHWE OFTIOS 2,8¢3 AEI?
Options :

1. ¢ P00 988 308065 § DOBE.

2. % 8 JnEye 2350 ©9DNHE

3. % PODTEO AP0 A3EY eIl sESed

4. % £ e g

Question Number : 62 Question Id : 630680364473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is one of the primary objectives of ethnobotany?
Options :

1. ¥ Conservation of cultural heritage

2. ¥ Development of new plant species

3. ¥ Commercialization of traditional knowledge

4. % Creation of new languages

Question Number : 63 Question Id : 630680364474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Q0"2690, TEINEN 0B T ¥ (DB TR0 HENMT SITTAOT DO, TEY, ST00 §d0 & 180
R8O HAEFOS AB (DO ToBoE?
Options :
1. # 30
2. % 5250 HATEE 0B DTN
3. % ZrHhdoen
4. ¢ JB Sohen

Question Number : 63 Question Id : 630680364474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following plant groups is known for its strong, woody stems that are often used for construction, crafts, and various other
purposes?

Options :

1. % Rattans

2. % Cucurbits

3. % Cacti

4. ¥ Bamboos

Question Number : 64 Question Id : 630680364475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B0 B0ELOS EIDOT VE0E BerS BEOS &) 5313 ASr0edesgITOES, airoed 8 THerd SHBTSN
O50E35° 1B 192D D5 DA A OFETOS D000 O G0EN0E?

Options :

1. % &8e)eron&)

2. % BBH)SNE)

3. ¢ DITONE)

4. % G

Question Number : 64 Question Id : 630680364475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which class of secondary metabolites is associated with various medicinal properties, including antioxidant, anti-inflammatory and
anticancer effects?

Options :

1. # Alkaloids
2. % Terpenoids
3. ¥ Flavonoids
4. % Glycosides

Question Number : 65 Question Id : 630680364476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements and mark the correct option:

1. Medicinal and aromatic plants are exclusively found in tropical regions and cannot thrive in temperate climates.
2. All parts of a medicinal plant are always used for medicinal purposes, without any consideration for potential toxicity.

Options :

1. # Statement land 2 are true.

2. ¥ Statement 1 and 2 are false

3. # Statement 1 is true and 2 is false.

4. % Only statement 2 is true.

Question Number : 65 Question Id : 630680364476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

28/68



14/09/2023, 11:28
&5 1808 575§ N0 NBAN OB DOVEX tH80H0&:

1. A5 08050 B0 BNEHE (DBLE0M GReNOBE BFoTOS EDTON BTN DNISR) eSS0’ 59
TOAY.

2. Z’ch% 08 TBEY QY 27PeD DATES0 TS D025 HBOD DENS0ES HEIDS BHOE®, IV YEF® LA
DArsare) $H0 SHTA0TIDBSToN.

Options :

1. % oesegen 1 0805w 2 e Oedso.

2. % P5e 1 o D8AW 2 e e9e550.

3. % 850 1 0e550 QDB 7850 2 €90e550.

4. % 7850 2 S°(eH3 Deb50.

Question Number : 66 Question Id : 630680364477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 1808 55 A Dehs0?

1. A S 0TA (92300 BTN DL SIS DODOTTE T3], T NOH RSANS0, B DS DFeFOT
DPO(DTODN &0, 0N 9edE DWEEN DO BNEY ATV DN GOLNOR.

2. DEYEED A 55580, TAL0, TN, TS0 BN X7 28BS ¥ eoFe D0 e
EDBTOZ DORVOEOD NG DO JODTODH DO TTPHSIOE A0 BN 9o
BOEITR), EOB S0EN0H.

3. AELSFD Ty e 28530 TINEY T RO OTO ) ST G590 DEVBIOA O INE O SNANG &)
OB (NS S0BA TPODTTORN NP HBHEF0IX.

Options :

1. % orsegen 1,2 08080 3 e O¢850.

2.9 1 B0 2 S DehS0

3. % 3 Jr(ehadd Oed50

4. % 2 08050 3 Sr(eha Deb50

Question Number : 66 Question Id : 630680364477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following statements is true?

1. Ethnobotany is the scientific study of the relationships between people and plants, encompassing the traditional knowledge, cultural
practices and uses of plants by various societies.

2. Ethnobotany involves documenting and understanding the traditional knowledge of different cultures regarding plant uses for food,
medicine, tools, ritual and other aspects of human life.

3. Ethnobotany only focuses on the scientific aspects of plant biology and does not consider the cultural significance and traditional
practices associated with plants.

Options :

1. ¥ Statement 1, 2 and 3 are true.
2. % Only 1 and 2 are true

3. # Only 3 is true

4. % Only 2 and 3 are true

Question Number : 67 Question Id : 630680364478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ee2d TS €9era) reh YN TBE), (8O ST a37¢3 Deed-e85r0eh (V0 HO8NH DO (S0
@08 0s%:

A) @89 E7° 0rEen; B) SFrdFen; C) e35%58 Sra 05080; D) e HoEsro
Options :

1.¥ A>B>C>D

2.%¥D>A>C>B

3.9C>B>A>D

4. % A>C>D>B

Question Number : 67 Question Id : 630680364478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Arrange the following categories of Non-Wood Forest Products in increasing order of their value-added processing complexity:

A) Wildcrafting herbs; B) Handcrafts; C) Essential oil distillation; D) Timber extraction
Options :

1.¥ A>B>C>D

2. D>A>C>B

3. C>B>A>D

4. # A>C>D>B

Question Number : 68 Question Id : 630680364479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2PBSHTIOST & B85 (2050 TwE) HP0 TS Earsdeden, D3 OO (D2 S DOV IS DFS0
T ST° DER @D NYQR (8¢5 Yo 289 B DG, DOEE 0RO ©F SO 2ERFH0E?

Options :

1. % 2309 STPsdSdS0eN

2. % 55(arene @25a5rdesen

3. ¥ B389 ded §en

4. % 38 ¢ dedsen

Question Number : 68 Question Id : 630680364479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which category of protected area in India aims to conserve biodiversity while promoting sustainable development through cooperation
among local communities, scientists and government agencies?

Options :

1. ¥ National parks

2. % Wildlife sanctuaries
3. ¥ Biosphere reserves

4. % Conservation reserves

Question Number : 69 Question Id : 630680364480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

28 2N HOBE 9 TB0EY PHNE ©F 50 D32

Options :

1. % 37¢3 DT TS 225000 0S8 0d%0

2. % DT80 956300 B8.0TH¢0 DB DB sar0dcso

3. ¥ 3¢S D23 TP FEND 237 DB 8 0% 0

4. % 0SB0V 2O 385 DA |6 YorotIcso

Question Number : 69 Question Id : 630680364480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary goal of ex sifu conservation?
Options :

1. ¥ To conserve species within their natural habitats
2. # To protect and manage ecosystems

3. ¢ To conserve species outside their natural habitats

4. % To promote commercial exploitation of endangered species

Question Number : 70 Question Id : 630680364481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2PESTFOS & DO SErIES OB e ABLIFOTISO, BNELO SSFTOD WEBOTIHO HEAM TFOS' gy
IV, TEOE] TONBO D 23°¢I5eh SN0 E?
Options :
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1. # NBPGR
2. % ICAR
3. % CSIR
4.+ BSI

Question Number : 70 Question Id : 630680364481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which organization in India is responsible for conducting botanical surveys, collecting plant specimens, and documenting the plant
diversity of the country?

Options :

1. ¥ NBPGR
2. % ICAR
3. % CSIR
4. ¥ BSI

Question Number : 71 Question Id : 630680364482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 (808 7575 DBKEI0DN ST 565 OB 20D NSR) h&osodk:
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Options :

1. ¥ P5e5e0 1 DOAM 2 €0 OBA.

2. % 37850 1 S OBIA.

3. % 2850 2 QPSR JIA.

4. % rsegen 1 08AM 2 60 OB 5°).

Question Number : 71 Question Id : 630680364482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mark the correct option after considering the following statements:

1. National parks in India have a higher level of legal protection compared to wildlife sanctuaries. Human activities are more restricted in
national parks to minimize disturbances to the ecosystem.

2. Many protected areas in India serve as crucial habitats for endangered and critically endangered species, contributing to their
conservation efforts. For example, the Kaziranga National Park is renowned for its efforts to protect the Indian one-horned rhinoceros.

Options :

1. ¥ Statement 1 and 2 are correct.
2. % Only statement 1 is correct.
3. ¥ Only statement 2 is correct.

4. % Statement 1 and 2 are incorrect

Question Number : 72 Question Id : 630680364483 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&2 (808 5D 0!
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Qe § TANB0 BTN AONO(E3S HBVIES’ 23(IDGETIH0 H0E3 DT J-2EN DBEBE 9 TINEY 28 BO.

806 0DYOS’ DE HBIE?
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Options :
1. % 5r850 2 S OB
2. % 75e5en 1 08050 3 S(ehadd B X.
3.9 P5esen 1,2 QD8O 3 00 OB .
4, % 5°55e0 1,2 0OAM 3 00 OB 5.

Question Number : 72 Question Id : 630680364483 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements:

1. Ex-situ conservation involves the conservation of biodiversity outside their natural habitats, often in controlled environments like
botanical gardens, zoos and seed banks.

2. Ex-situ conservation helps to prevent the extinction of endangered species by providing a safe environment for their survival, breeding
and eventual reintroduction into their natural habitats.

3. Seed banks are one form of ex-situ conservation where seeds of various plant species are collected, stored and preserved under
controlled conditions to ensure the genetic diversity of plant populations.

Which of the following option is correct?
Options :

1. % Only statement 2 is correct

2. % Only statement 1 and 3 are correct.
3.+ Statement 1, 2 and 3 are correct

4. % Statement 1, 2 and 3 are incorrect

Question Number : 73 Question Id : 630680364484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following initiatives with their descriptions:

Initiatives Descriptions

A) National Gene Bank 1. Responsible for collecting, conserving. and distributing plant genetic

resources for research, breeding, and other purposes.

B) Plant Genetic Resources 2. Involves the maintenance and preservation of diverse genetic materials of

Management various crops and plants.
C) Crop Germplasm 3. Involves documenting and registering germplasm collections to ensure their
Registration availability and proper management.
D) Research and 4. Focuses on conducting research to enhance the utilization and conservation of
Development plant genetic resources.

Options :

1.¥ A- 1;B-2; C-3; D-4
2. % A-2;B-3; C-4; D-1
3. % A-3;B-4; C-1; D-2
4. % A-4;B-3; C-2; D-1

Question Number : 73 Question Id : 630680364484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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& 300 TOEITOD T EaFoliclali ] ?oéﬁsahoéz

INYOINISN DdOERD
A) D0OS 205 s | 1. DTG, DodSo BN R0 POITFRTTY 0 D5 2§ HOMO DEBoEo,
Do oo BOI DowEY BODC0 2FEHE.
B) 2uus),0 2y 2. DD Dotxrw HBAL DS O Ve, DD 2y DEFGEL DO SOOI
DR DOETED 008
0 g7d 86 Jrado 3. 86 racn DE0me Oz BTN DB DOIFED
DR BN CrEfRL0E Soneso DBOKD IR BawcEo.
D) HBF & s0dain 4. 2008),0 2R DDWL DAEIT0 BCID DOGELH WHDDBBoEID DOT e
DG DO Chyay B8,
Options :

1. ¥ A-1;B-2; C-3; D-4
2. % A-2;B-3; C-4; D-1
3. % A-3;B-4;C-1; D-2
4. % A-4;B-3; C-2; D-1

Question Number : 74 Question Id : 630680364485 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following CSIR institutes according to their establishment year:

A) CSIR- Central Food Technology Research Institute
B) CSIR- National Chemical Laboratory

C) CSIR- Central Electrochemical Research Institute
D) CSIR- Institute of Genomics and Integrative Biology

Options :

1.¥ C,B,A,D
2. % B,C,D, A
3.% A,B,C,D
4. % D,B,C A

Question Number : 74 Question Id : 630680364485 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&2 (808 CSIR AV $E D 3°¢3 TS D036 )80 (D5°B0 €08 0:

A) CSIR- OIS HE Bs) 02 85 SN 5ES

B) CSIR- SASS ZES eSS Ted

C) CSIR- DO IO FBMWES 816 2SS

D) CSIR- @Q)),60°5¢) 3D BS'WE ) @0& R0¢31E3S 2x05rer2d
Options :

1.¥ C,B,A,D

2. % B,C,D, A

3.% A,B,C,D

4.% D,B,C, A

Question Number : 75 Question Id : 630680364486 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

8098 CaF(1ie5e), 8038 DEHNBI) STeren S0BAW F°F 565 00TD PV, 8398 D0NE (DGO 80y8 &PSex, (G
B0 BTSN EDA SOT LTG0 (2BITe0) E?

Options :

1. % &QNOBO ST BEIS0

2. % &olEren
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3. % Jdhen
4. % J0FEA 1T

Question Number : 75 Question Id : 630680364486 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which biome is characterized by low temperatures, short growing seasons, and a layer of permafrost, with vegetation primarily consisting
of low shrubs, grasses and lichens?

Options :

1. ¥ Tropical rainforest
2. % Tundra

3. ¥ Desert

4. % Temperate Grassland

Question Number : 76 Question Id : 630680364487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 ¢3S 2 SIS APADEFE DBDIB TS GTTsTEed DE?
Options :

L% 8%

2. % 8¢S

3. ¥ HEDYBS 50

4. % 507528 50

Question Number : 76 Question Id : 630680364487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of a positive interaction between species?
Options :

1. % Predation

2. % Competition

3. ¥ Mutualism

4. % Parasitism

Question Number : 77 Question Id : 630680364488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DT83EE DBOMT, "D S0 (niche )" ©OTD aDeE3?

Options :

1. % 2,825 Q0T 278 rdo.

2. % J0°55569 9530 @) 2855 s0BO50 @922837¢35(DB ) HBHIS T5Ese> Bneso.
3. ¢ Q) 635569 55506’ 208 2378 TSy DO Leh S0BAN 0.

4. % 2THDE D323 52BN §¢5 2328000 €59 ) 0TS (DB,

Question Number : 77 Question Id : 630680364488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In ecological terms, what is a "niche"?

Options :

1. ¥ The physical location where an organism lives.

2. # The total sum of all the biotic and abiotic interactions in an ecosystem.
3. ¥ The specific role and position of a species within its ecosystem.

4. % The process by which new species arise due to geographical separation.

Question Number : 78 Question Id : 630680364489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 (808 BTN DR EANDOT SO(EAF DT SO @S YOk:
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A. 0| B.&as00Be STE50; C. K5G35 (10008); D. Jz°8
Options :

1.¥B,D,C,A

2. % C,A,B,D

3.% D A,B,C

4.% A,C,D,B

Question Number : 78 Question Id : 630680364489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following biomes in chronological order of their appearance on Earth:

A. Tundra; B. Tropical Rainforest; C. Grassland (Prairie); D. Desert
Options :

1.¥B,D,C, A

2. % C,A,B,D

3. % D,A,B,C

4. % A,C,D,B

Question Number : 79 Question Id : 630680364490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

D555 53D Q) 38 FPan S’ FTSIOTT 9550 8 9002 eNeS’ GOENOE?
Options :

1. ¥ &SN

2. % (PPE DA

3. % O 5BAH AATrHT SN

4. % 53805 DITZFHTTEEN

Question Number : 79 Question Id : 630680364490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which trophic level in an ecosystem typically has the highest energy content available?
Options :

1. ¥ Producers

2. % Primary consumers

3. # Secondary consumers

4. % Tertiary consumers

Question Number : 80 Question Id : 630680364491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

29063 DOBOH ) DR 2T DB IETIHOS” EE (¢h AN 8392355 DOTITHEAD DO
F°50(80% 50¢3 DB T°5T° DRHOANO TOLDT STDE0 E?

Options :

1. % 383238
2. ¥ 528)Q

3. % JE=BS
4. % PEBS

Question Number : 80 Question Id : 630680364491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which element plays a crucial role in forming the building blocks of organic molecules in living organisms and is exchanged through
processes like photosynthesis and respiration?

Options :
1. # Oxygen
2. % Carbon
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3. # Nitrogen
4. ¥ Hydrogen

Question Number : 81 Question Id : 630680364492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OO 25N DNVYATT &) [POTOES ST D500 TINEY HEIONTI 3159 A0 @ D30 DN oE?
Options :

1. % (DS (Qr0&°en

2. % 8PS TN

3. % rQ% Socseren

4. ¥ BIFNES FEIH)EQew

Question Number : 81 Question Id : 630680364492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which term refers to areas with high levels of species richness that are also under significant threat of habitat destruction?
Options :

1. # Core areas

2. % Keystone habitats

3. ¥ Endemic zones

4. ¥ Biodiversity hotspots

Question Number : 82 Question Id : 630680364493 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
38 |0 SrFTTOB) 000NN &5 80O 575D tIN0R:

TPE S0 1: DTS 55506’ 38 (DT XTTEN GHBETQ AANSTEI) DO, 38§ 2.8 &0 0 & HEFE
BEFFI J7ED) TOCHHIOA TR DYROTICHED BT T3S0 TODICHCED. 38 €575 FPone @ sT° OO
TOHDAS0CNN, (D& OO HHONOS’ Eoeh $8§ SQOM JTEAOE, BE 9O (5°DE T oS 0T’ &),
38’ 5508 TSN,

TPE S0 2: DTS IV’ F8 (DT SFTeN (HGTSOTT F8S ¢ HTE AD O Gotrow, B FASEN
€858 2570 &° §0° D005 0m EES TAH22BTTOHA AT O ON.

DN RS FDES 5O A DBIE?
Options :

1. ¥ 33500 1

2. % 335002

3. % 10805 2 Bo&ky

4. % 1 S 2 ) 570

Question Number : 82 Question Id : 630680364493 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements related to energy flow pathways:

Statement 1: Energy flow pathways in ecosystems follow the laws of thermodynamics, with energy being transformed from one form to
another but never created or destroyed. As energy is transferred through trophic levels, some energy is lost as heat during each transfer,
leading to a decrease in available energy at higher trophic levels.

Statement 2: Energy flow pathways in ecosystems primarily involve the transfer of matter along with energy, ensuring that nutrients are
efficiently recycled through the food web.

Which of the above statements are correct?
Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2

4. ¥ Neither 1 nor 2
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Question Number : 83 Question Id : 630680364494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements and mark the true statement about global biogeochemical cycles of carbon :

1. Carbon is cycled through various reservoirs in the Earth's ecosystem, including the atmosphere, oceans, terrestrial vegetation, and soil.
The carbon cycle involves processes such as photosynthesis, respiration, decomposition, and the burning of fossil fuels.

2. Carbon enters the atmosphere only through volcanic emissions and cannot be released by human activities.

3. The primary process responsible for removing carbon dioxide from the atmosphere is combustion of fossil fuels.

Options :

1.+ Only 1

2. % Both 1 and 2
3. % Both 2 and 3
4. % Both 1 and 3

Question Number : 83 Question Id : 630680364494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

531808 5508 TIN50 SHBOMM 5°8)S TBNEY TS T8 TBTBNES ES ) H80D) QBP0 FS§DD
H800&:

1. TSSO, s35FIXN|TTEN, 200N 595,000 OG5 3 N3P 250 TB0EY, HTXSED 55505
DA B23T° 00D T ST° S°E)® BFarr0edS0 OO, SN 8S 88az3ds H0a3rH8A%, 32580,
BP0 0BA8W Beres RO (3P0 503 (DBANO O 0EN0d.

2. 5°3)& €90 DS §5 GTPT™ T 0° 57|55 TGOS S (N0 OB XT3 SE§EeTIE & $T° DRSO
5.

3. 3028 ROOT® QTS0 OV TEPIGEI0 DO 5B BSOS IE SOR0IEAE 23°¢35e5 HP0TS [PGadE (DIBO%.
Options :

1. ¢ 3001

2. % 1 0805 2 Bockr

3. % 2 0805 3 Bockr

4. % 1 0805 3 Bocke

Question Number : 84 Question Id : 630680364495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following regions with their corresponding definitions of endemism:

A, Madagascar L. High species endemism due to isolation and unique ecosystems.

B. Galapagos Islands 2. Known as a "biodiversity hotspot" with numerous endemic species.
C. Western Ghats 3. Notable for its diverse range of endemic plants and animals.

D. Hawaiian Islands 4. Home to a high number of species found nowhere else in the world.

Options :

1. A-2, B-1,C-3,D-4
2. % A-1,B-4,C-3,D-2
3. % A-2,B-3,C-4, D-1
4. % A-4,B-2,C-3,D-1

Question Number : 84 Question Id : 630680364495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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gnasatendemism) aing), Vo2dS .?Jcicscz’)xjﬂvﬁ & S08 JromroRD foﬁﬁeﬁaoﬁz

A. @06 1. DFTHS Dodasw DBLEROD DU°FOOE DOV SPELIOTT IBS 2P0 Q‘i’)ge:b.

B. rerarfid ODen | 2. 0908 IS 2ravod 1 BaDG] FEINE" TP DVE Bodod.

C. DI S0D0en | 3. IS Do) e SOOI 20D DD 3633 PO Dodod.

D. sraron Hinen 4. Hdocsoes” D00E) T S b ‘.()oméess raOsH Doaio.

Options :

1. ¥ A-2, B-1, C-4, D-3
2. % A-1,B-4,C-3,D-2
3. % A-2,B-3,C-4,D-1
4. % A4, B-2,C-3,D-1

Question Number : 85 Question Id : 630680364496 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
511808 (o) 3°¢3 BIRNES FETIE VB 0T 18006 @08 yod:

A. DB Ed0e3eN; B. 537K a3 ASeN); C. e953023°Q BONRIB); D. 0w 0.
Options :

1.¥ A<B<C<D

2.¥B<A<C<D

3. ¥ D<A<B<C

4 ¥ B<A<D<C

Question Number : 85 Question Id : 630680364496 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following regions in increasing order of their biodiversity hotspot status:

A. Western Ghats; B. Eastern Himalayas; C. Amazon Rainforest; D. Sundaland.
Options :

1.%¥ A<B<C<D

2.9 B<A<C<D

3. ¥ D<A<B<C

4 ¥ B<A<D<C

Question Number : 86 Question Id : 630680364497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

531808 ¢3S O A0 (ASSTTR (27T (DT SPEEOTT GO, 23 YOI )0 DO e
QEFIOS 503 T3B5 TP ST° (DFOOTT FEPIB0S 8§ DSOS S0E?

Options :

1. % 383238

2. % I8

3. ¥ 8)Q SBT3 HE
4. % JEBS

Question Number : 86 Question Id : 630680364497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following gases is a major contributor to the greenhouse effect and is primarily released into the atmosphere through
activities such as burning fossil fuels and deforestation?
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Options :
1. # Oxygen
2. % Nitrogen
3. % Carbon Dioxide
4. ¥ Hydrogen

Question Number : 87 Question Id : 630680364498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SIS0 SIS HOFEIG S0¢3 IAS TR ANYEN BB HO DOT (AS F¥°R 2750 S0 257 TZNE
QED (TS DM & B39f A0 ST 2

Options :

1. % CO, HOAES0

2. % J30(E S0QO DB

3. ¢ S 800

4. % UV BADAS 2SS

Question Number : 87 Question Id : 630680364498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which phenomenon refers to the increase in Earth's average temperature due to the enhanced greenhouse effect primarily caused by the
accumulation of greenhouse gases like carbon dioxide in the atmosphere?

Options :

1. #¥ CO, Fertilization

2. % Sea Level Rise

3. ¢ Global Warming

4. % UV Radiation Increase

Question Number : 88 Question Id : 630680364499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

O BIBIS50 EORS BEIT, Db SO €3N, BB OE ST B0 HOXM OHE B &) (oo
& BERS 59800 E0EN0E?

Options :

1. % 5E 25radnen

2. % J@rd

3. ¥ &0 ST°BEIS0

4. % ol

Question Number : 88 Question Id : 630680364499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which vegetational type is characterized by dense, evergreen forests with high biodiversity, often found in regions with heavy rainfall and
high humidity?

Options :

1. # Grassland

2. % Desert

3. ¥ Tropical Rainforest

4. ¥ Tundra

Question Number : 89 Question Id : 630680364500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& (808 5D 0!

1. (AR S 30eHe0 25570 Ty, &3S0 SAQ 22080, (370 A ATITIHFS e iieh DO
QBP0 D2 IBSTR (027, DS YT ON. (DS (SR YOS 52838 ST IE (CO,), NGBS (CHy),
S &3)E (N,0) 0O Qe 8B (H,0) ) 0.
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2. 33723 RQOTOR BTI0 TWONB0, 90 BT OO 2TB|F"1E (DB $50¢3 Srded S sEeTaren
TSGR0’ (ASTTR S O0H OISO HEADODOMT WDOTTOW. & VOAS (ISR (D230 FS 8300
BN FERAVE XTE0)B0 SIS0, BE BB, 25HE S Hede, DS0(EY 0O DB, ST
BLIRS TS DOVEISEN DB BB DTS (I2FTOE T8 SNOA.

DE3S’ A Hev50?

Options :

1. ¥ 1 0805 2 Bocsr

2. % 35002

3. % 3300 1

4. % 150 B 2 50 A 520

Question Number : 89 Question Id : 630680364500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements:

1. Greenhouse gases are responsible for trapping heat in the Earth's atmosphere, creating the natural greenhouse effect that maintains a
livable temperature range on the planet. The major greenhouse gases include carbon dioxide (CO,), methane (CHy), nitrous oxide (N,O),

and water vapor (H,O).

2. Human activities, such as burning fossil fuels, deforestation, and industrial processes, have significantly increased the concentrations of
greenhouse gases in the atmosphere. This enhanced greenhouse effect is causing global warming and climate change, leading to rising
global temperatures, sea level rise, more frequent extreme weather events, and other environmental impacts.

Which of these are true?
Options :

1. ¥ Both 1 and 2

2. % Only 2

3. % Only 1

4. # Neither 1 nor 2

Question Number : 90 Question Id : 630680364501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DS0(ES HEO DB HBOD &5 (0B ¢3S DTS (DFEIS DE?

1. DSN(E 0EI0 DM ORE (HETSOT F20S 376200 0O SRSFRNTTEN 0O 00T HDeEEN EBHHO H©
D335 DS 5 DNBED T3 §0° NS0, 2537 TGy, S ((1ed DOTETED), DN D3 HOR8T 0
DABROE, A HAN(E ETEN VBB ET0 TROA.

2. DX 00 DEHAE [HDHDOTITIROM 38 [FOTOE HEIDONDON DOETSTOL EOAN0H. B SSr0ch
S50 OB, O 3NN B SN DNONOE’ EHEY |P0TES SNOTIEISA0E SDBA5N HODE3
55590 ©3E38GEE) TPOBNO0E. &8 53S0 IO SBEIOM BT EXrsDeEden, HTESSED 5590 BN T°OE
DT OSTEN [9STC06S’ ) om.

3. (8065 0T HEEEN SOOI aFSTRSTTEN EBHEBO0 D) HEO DEHAOEL E5T7¢30 TR0, @08y ¢35
8050 (ASEPORE' SH0TH HOFEN BB D), GF|Hesed SBEIOM 3:550°3Q &S yeram, svotdh S6A
SISTFISNCTOEE 1295570, DS De3 INB0 HDBEFEI0 DENS0E.

Options :

1. % 1 308050 3 S5°(eh

2. % 1 8050 2 Soehad

3.9 1,2 0805 3

4. % 1 Jr(ehad

Question Number : 90 Question Id : 630680364501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about sea level rise?

1. Sea level rise is primarily driven by the thermal expansion of seawater due to global warming and the melting of glaciers and ice sheets.
As the Earth's temperature increases, the volume of seawater expands, contributing to the rise in sea levels.

2. Sea level rise has significant consequences for coastal regions around the world. It leads to increased coastal erosion, inundation of low-
lying areas during high tides or storms, and salinization of freshwater resources. Vulnerable communities, ecosystems, and infrastructure
are at risk due to these changes.
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3. The melting of polar ice caps and glaciers contributes to sea level rise. As ice sheets in Antarctica and Greenland lose mass due to
warming temperatures, ice melts and flows into the oceans, adding to the total volume of seawater.

Options :

1. ¥ Only 1 and 3
2. % Only 1 and 2
3.4 1,2and 3

4. % Only 1

Question Number : 91 Question Id : 630680364502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following types of vegetational zones with their corresponding characteristics:

Types of Vegetational Zones Characteristics
A. Taiga L. Found at high altitudes; home to hardy plants adapted to cold and harsh conditions.
B. Savanna 2. Dominated by evergreen shrubs and small trees; adapted to Mediterranean climate.
C. Alpine 3. Characterized by coniferous forests with cold winters and short growing seasons.
D. Chaparral 4. Grasslands with scattered trees; home to large herbivores and predators.

Options :

1.+ A-3,B-4,C-1,D-2
2. % A-4,B-2,C-1,D-3
3. % A-3,B-1,C-2,D-4
4. % A-2,B-3,C-1,D-4

Question Number : 91 Question Id : 630680364502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&: 308 05°0 LD 0LV T DoWOBE VEEFOE DOV OC.:

& avodiere) OSTeD OEEFED

A. & 1. 220 pETOS" Gotrron, SYD HBCIN SBIDVD DBPBLOE BANDRTT G0l Y
Q008 S Do,

B. 225y 2. 266 PO e B0 DD BN I DT S0, DE(ET° TEPO0EFIS
£9:205700.

C. &0y 3. 99 IBUTTTPLD DOOID BEN DT DENDAD) DRHF SPAD F0275°0 EDD
077000,

D. evdioees 4. os) c8) c DHE SPAS A ZirdweD; DYYS TTDImHED B0 ATOIF DAV
Aeodo.

Options :

1. ¥ A-3,B-4,C-1,D-2
2. % A4, B-2,C-1,D-3
3. % A-3,B-1,C-2,D-4
4. % A2 B-3,C-1,D-4

Question Number : 92 Question Id : 630680364503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&8 (808 €959 (25570 SET70) 5P 2520 EANO0T STOEXTRR SO @08 Yo R:

A. Q2F°8; B. IS 38R (B); C. &8B)S €0(3°%; D. 088 9¢he)en
Options :
1.¥B,C,D,A
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2. % D B,A,C
3.% A,B,D,C
4. % C,A,B,D

Question Number : 92 Question Id : 630680364503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following vegetational types in chronological order of their appearance on Earth:

A. Desert; B. Coniferous Forest (Taiga); C. Alpine Tundra; D. Mangrove Forest
Options :

1.¥B,C,D, A

2.%¥ D B,AC

3.% A,B,D,C

4. % C,A,B,D

Question Number : 93 Question Id : 630680364504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

08y SerereS 885> TINEY (PHNE DE de3?
Options :

1. % g2 5080

2. % 1938 H03Ned

3. % DNA [De3850ed

4. ¢ 35070 A € 0BAN ;A0

Question Number : 93 Question Id : 630680364504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary function of vacuoles in plant cells?
Options :

1. % Cellular respiration

2. % Protein synthesis

3. ¥ DNA replication

4. ¥ Waste storage and disposal

Question Number : 94 Question Id : 630680364505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

22557089 ZHOS” [T TBADDES DS B (NFFV) TB0EY, (TPAONE DA De3?
Options :

1. % Q00036 eTed VBN (65 )ar0dcso

2. % T2)@S) DNA & H8TOHS0

3. ¥ ©T0NS B T)BN) SO SOA0HB0

4. % Ee9 Q252330 DTN 0O

Question Number : 94 Question Id : 630680364505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary function of programmed cell death (apoptosis) in multicellular organisms?
Options :

1. % To promote uncontrolled cell growth

2. % To repair damaged DNA

3. ¥ To eliminate unwanted or damaged cells

4. % To stimulate cell division

Question Number : 95 Question Id : 630680364506 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
2550 TBNEY DA ¢33 HBHB AOHO(B0T HOEATOD BIBTIBO & sT° §ea ISR, AADHO(B0IHOS & (8¢5
8% (¢d A OW?
Options :
1. % Be3S2rP S 0805 ps3
2. ¢ 8 B ES-e355°8¢% 825 e (CDKew)
3. % E2F 20835 p21
4. % DNA 2P0 OO RNA 203

Question Number : 95 Question Id : 630680364506 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which proteins play a key role in regulating the cell cycle by forming complexes that control the progression of the cycle's different
stages?

Options :

1. % Retinoblastoma and p53

2. Cyclins and cyclin-dependent kinases (CDKs)

3. % E2F and p21

4. % DNA polymerase and RNA polymerase

Question Number : 96 Question Id : 630680364507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

£69065°Q DA HVSTTOZ BFeT TONTAE B DO TN (D0 FEEL (8¢3D 085w D&
DSBS, (E0200EB0TE HBA5N F5TR0R TONETIE & SETOHXN 23¢5eh SaPNOE?

Options :

1. % S

2. % %A

3. % 90505 193520
4. ¢ 7€) Ho8N0o

Question Number : 96 Question Id : 630680364507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which organelle is responsible for modifying, sorting, and packaging proteins and lipids for transport to various destinations within the
cell or for secretion outside the cell?

Options :

1. % Lysosome

2. % Microbody

3. ¥ Endoplasmic Reticulum

4. ¥ Golgi Apparatus

Question Number : 97 Question Id : 630680364508 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TP ITBILET DBOD 8 (808 55D W9 S0G:

1. TFTIEY 9 RINELE ETr 9NN 8.2 SPF e, B (DeH5E, (DB 03O80 DBSEN
SrBIA 9B NOA.

2. 8 PROED FFASXTTEN DB (DELR &) BNELO Fe72ed 0ES NOTTODN TBHe @ @ENHE EAODED
025530 TR0, DAE £ (DIBANORD (D20 TR ON.

20 3550 D OBSE?
Options :

1. % 33001

2. ¥ 10805 2 Bocsr

3. % 3302

4. % 1520 S 2 5% DA 520
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Question Number : 97 Question Id : 630680364508 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 2 Wrong Marks : 0
Read the following statements about plasmodesmata:

1. Plasmodesmata are microscopic channels that connect plant cells, allowing for direct communication and molecular exchange.
2. These channels facilitate the movement of nutrients, hormones, and signaling molecules between adjacent plant cells, influencing
various cellular processes.

Which of the above statements are correct?
Options :

1. % Only 1

2. % Both 1 and 2

3. % Only 2

4. ® Neither 1 nor 2

Question Number : 98 Question Id : 630680364509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
E2F (838050 H020800) & (808 55 & Hev50?

1. E2F (£°¢3D) @00 B0 50 576570 $00020, A S 8S HEFHS QoH0(eHeaS” §or8 (¢ SFaron. DNA
(L3S, 869 DI DO QS Eea & 0220 (DEANOH @IITRS 2305y $58883890% 2
QOHO|E3oW.

2. E2F (87¢300 BE3S2rFSr (9°¢3S (pRB) s08050 25 (¢35 $63 w352, 00058 Hodden
Bgscﬁo@"ooo. 1853 pRB D0E.06S, E2F QBB005008, £ <580 HBNBE e9508D0d 23:059e> Ss888ead
ABEN0E.

3. E2F |53 (S0 $69 2950 HFHB 99D IAHETE 0B §€9 5[0 TEFP o0 A §er0d 8
FARAITSINIO VoW

Options :

1. ¢ 1 0805 2 Bockr

2. % 208050 3 Bohwe

3. % 3503

4. % 12000503

Question Number : 98 Question Id : 630680364509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true for E2F proteins?

1. E2F proteins are a family of transcription factors that play a critical role in the regulation of cell cycle progression. They control the
expression of genes required for DNA replication, cell division, and other cell cycle-related processes.

2. E2F proteins interact with the retinoblastoma protein (pRB) and other proteins to control the cell cycle. In the presence of active pRB,
E2F is inhibited, preventing the expression of genes necessary for cell cycle progression.

3. E2F proteins are primarily responsible for suppressing cell cycle progression and maintaining cell cycle checkpoints.

Options :

1. ¥ Both 1 and 2
2. % Both 2 and 3
3. % Only 3

4. % [,2and 3

Question Number : 99 Question Id : 630680364510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 1808 BSOS IO HBIE?

A. 5PN AFERAS 1 DS 7 50° D5 JEF NI ST THERANETR), T0TDROE.

B. DS SO(BONES FBHS056 DS : DNA (HBEFHED OO £69 DB [ SODN0A.
C. &' : DE'SO(AONS DSBS DOTEN 3§ €5¢9 1B OBHIEN0E.

D. DNA BRBAS : $e770 38 O R |9°¢3TBTBESE 1585505 (865 )00 8.

Options :

1. ¥ 3de0 C

2. % 3%0D
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3. % A NBA B DO
4. % 33500 A

Question Number : 99 Question Id : 630680364510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs are correct?

A. Caspase Activation : Triggers the engulfment of extracellular particles by the cell.
B. Mitochondrial Permeability Transition : Initiates DNA replication and cell division.
C. Autophagy : Enhances mitochondrial function and energy production.

D. DNA Replication : Promotes proteolytic activity leading to cell destruction.

Options :

1. ¥ Only C

2. % Only D

3. % Both A and B
4. % Only A

Question Number : 100 Question Id : 630680364511 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

69 Q252385 DHANOES’ DHE 1ES57e3E e HBS 25235 AT 0N (EFRTE' 0 & (DBSE (050 23°¢d5eh
INYO LMoY

Options :

1. % O (8338

2. % BSWOND

3. ¢ 0o AHB

4. % r 8038

Question Number : 100 Question Id : 630680364511 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which specialized region of a chromosome is responsible for ensuring proper segregation of sister chromatids during cell division?
Options :

1. #¥ Euchromatin

2. % Telomere

3. ¢ Centromere

4. ¥ Heterochromatin

Question Number : 101 Question Id : 630680364512 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which type of chromosome is known for its characteristic banding pattern due to repeated DNA replication without cell division?
Options :

1. ¥ Polytene chromosome

2. % Lampbrush chromosome

3. ¥ B chromosome

4. ¥ Sex chromosome

Question Number : 101 Question Id : 630680364512 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

69 23238 BEVOGE® )T 9T DNA (D3G5 SPGEIOM & BERNN (FRTE w0 o7 (D3B8 2375000 Seddrardd
VY ToHOL?

Options :

1. ¥ 3OS (FIrS e

2. % 0D A (IS

3. % B IF s

4. % 5 BrE'e
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Question Number : 102 Question Id : 630680364513 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

8.008569 D000 Hadrazeed (§Re W) 2365 TANB0 HOA5N B0NDTASK MNOESE0 TOHERE HerEB0T
PO (¢3S DE?

Options :

1. ® RNA OB

2. % DNA rO3Q

3. ¥ RecA

4. % 28J-e578¢% 83D

Question Number : 102 Question Id : 630680364513 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary protein involved in facilitating homologous chromosome pairing and recombination during meiosis?
Options :

1. ¥ RNA polymerase

2. % DNA helicase

3. ¥ RecA

4. ¥ Cyclin-dependent kinase

Question Number : 103 Question Id : 630680364514 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 808 55O WN0:

1. OOTESTES 0TE (FSre3S TBE) 580255 ABD0DS B30, [BOST3ed 238505 55888560 0805 e BP0
NVOHODVDHOA.

2. B E 73S 9TE BT HABA0DS (8357¢38 QT2620, ST (€S Y ERNST (§OEaFS0MT G0N0
SOBAEN 23605 VBT, DB £20TIBOES” BN 8T e560D DNA €90 S5 eS0T BONB0S (957
5 FANOR.

20 3550 DO Hebs0?
Options :

1. ¥ 1 0005 2 Bo&kyw

2. % 35001

3. % 3302

4. % 150 S 2 5% DA 5260

Question Number : 103 Question Id : 630680364514 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements:

1. Euchromatin is a less condensed form of chromatin, associated with active gene expression and transcription.
2. Heterochromatin is a tightly condensed chromatin structure, often transcriptionally inactive, and plays a role in maintaining genome
stability and silencing repetitive DNA sequences.

Which of the above statements are true?
Options :

1. ¥ Both 1 and 2

2. % Only 1

3. % Only 2

4. ¥ Neither 1 nor 2

Question Number : 104 Question Id : 630680364515 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ePOD(N HBOD &3 808 TSSO’ DE HBIE ?
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1. &0 (2N (TIPS D00 278, DAB0ADS (EFFRrS' e, A ) 205 e03STeS (L REOS’), Swsomr
&250DTITEN SDBON DFOS § AHESED D233 T3Ey BYE3S 93S° EJDFow. (FRrE"H 5.0 H0& Q80D
&) % (FXE3S rRoE (20 T EADOTIE0 SO °¢38 " ers0D (DN " O W SDHOO.

2. 0D (2N (FTRPEREN 9 HBDS0 BTSN RNA [ DO’ thHSE e oeron. (ES5re3S exrdhen (§airae
ODBP DTFOD EON GOEFON, G5 OFDENTT EIDO0T D BB’ RNAL &¢h )& TR om.

3. 0D (2N |FTSPERDEN 25060690 ZeTOES FETD DeNAHOS” K00TIDEEON DO (§ RS0

H0Z N0’ (DG (53 FRAOW.

Options :

1. ¥ 1 0808 2 Bo&y

2. % %01

3. % 3302

4. % 303

Question Number : 104 Question Id : 630680364515 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are correct about Lampbrush?

1. Lampbrush chromosomes are large, extended chromosomes that are visible during the diplotene stage of meiosis in certain animal
oocytes, particularly amphibians and birds. They are named "lampbrush" due to their brush-like appearance with numerous chromatin
loops extending from the chromosome axis.

2. Lampbrush chromosomes are actively involved in transcription and RNA processing. The chromatin loops contain sites of active
transcription, producing large amounts of RNA that are visible as lateral loops.

3. Lampbrush chromosomes are observed during mitosis in animal cells and play a role in chromosome condensation.

Options :

1. ¥ Both 1 and 2
2. % Only 1

3. % Only 2

4. % Only 3

Question Number : 105 Question Id : 630680364516 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following components with their roles in chromosome pairing:

A. Synaptonemal Complex | 1. Ensures proper alignment and pairing of homologous chromosomes.

B. Recombination Proteins | 2. Facilitates exchange of genetic material between homologous chromosomes.

C. Cohesin Proteins 3. Helps hold sister chromatids together until anaphase of meiosis.
D. Telomeres 4. Protects the ends of chromosomes and aids in synapsis.
Options :

1.+ A-1,B-2,C-3,D-4
2. % A2, B-4,C-3,D-1
3. % A-1,B-3,C-4,D-2
4. % A3, B-2,C-1,D-4

Question Number : 105 Question Id : 630680364516 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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& S00 DOATED TFTrO FArd oo 2 SocEss” o) Argod ":o&ﬁ“oaoc'i:

A DTS opsy | 1. Do0rs E20rd S0 D3 20005 andoin 280 DGB008.

B. 65700000 't 2. 23028 07 oo D06y 22304 VOGO DOYED VLS00 SRV,

C. Eard Jédao 3. 000808 DS 0TE), BVAGT HOD b EarddEo sOD doocods’®
DEFODDCERI0D.
D. &3¢5° D00t 4. §2rE 00 D000 622008 Sobain f‘oa:inﬁts;)i){synapsis)eﬁ“ D FODDEIE00H.
Options :

1. ¥ A-1,B-2, C-3, D-4
2. % A-2,B-4,C-3,D-1
3. % A-1,B-3,C-4,D-2
4. % A-3,B-2,C-1,D-4

Question Number : 106 Question Id : 630680364517 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

23 IS DS F6E T8 (B0 Derrio T3Sy EOED & (e e e5¢9)858350 $OB 0enod?
Options :

1. % ra3ad

2. % 935588

3. % THA)

4. ¢ (€8S BAS

Question Number : 106 Question Id : 630680364517 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which chromosomal mutation involves the movement of a chromosomal segment to a different location on the same chromosome?
Options :

1. % Duplication

2. ¥ Inversion

3. ¥ Deficiency

4. % Translocation

Question Number : 107 Question Id : 630680364518 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

22560 B (FIrE0S DNA S70)B8 OB D DO T T° 2808 DTR), 208 2§80%0 oS &
2 $8805°80 S & TANEBO & (DBOHES’ GoENOR?

Options :

1. % 53 23808 S 0riso

2. % 2308 DO

3. ¢ doddrio

4 ® ERSIBES

Question Number : 107 Question Id : 630680364518 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which process involves the direct transfer of genetic material from one bacterium to another through a pilus, leading to the exchange of
plasmids or chromosomal DNA?

Options :

1. % Genetic recombination in phage
2. % Genetic transformation

3. ¥ Conjugation

4. % Transduction
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Question Number : 108 Question Id : 630680364519 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2308 QOHO(hd HDOCIBNOES’, & (HTITHO 2308 SJTSE 23763 sHBAEN 23e5YES QA DDE (85T e5 28 COTAL) & HEOD
DI WOHODOE?

Options :

1. ¥ 230230 (HA3e50

2. % 3Je38 DR (Q%)D

3. % QREPS) B

4. % RNA 2)_800 D3N

Question Number : 108 Question Id : 630680364519 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of gene regulation, which experiment provided insights into the concept of genetic complementation and the presence of
discrete functional units within a gene?

Options :

1. ¥ Benzer's Experiment
2. % Genetic Fine Structure
3. % Cis-Trans Test

4. % RNA Splicing Analysis

Question Number : 109 Question Id : 630680364520 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&2 (808 5D 0!

1. (€S ) S BASDEIS50) 9FE &S DO(BOH D0Faren, [FODE0T 882355 HOTITHEONS' ereh )
TOHVAS VTN, e E69237e e DO (PGPSO e380e) §6923°er (S, DO SHBAN DBKBISY)
e $0¢3) NS Ee23e 0 T S0 BT T TONDBTON. PSS A3NEY, &8 EDE Ty DRMA®, ded
S0B805D F8 950T° FH0 S33BD DODES TANTAE 9:00BN0A.

2. 7S IS BAS(TIIOS0) 0E @05S) FASTO s DOG BEL O SHOZ TS T T ST° STEF T
8.

2 5O DO Hebg0?
Options :

1. ¥ 3300 1

2. % 35002

3. % 10805 2 Bockr

4. % 150 B 2 5 520

Question Number : 109 Question Id : 630680364520 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements:

1. Translocation is a process in plants where organic compounds, primarily sugars produced in photosynthesis, are transported from source
tissues (usually leaves) to sink tissues (such as roots, fruits, and growing buds) through the phloem. This movement of nutrients allows
plants to distribute resources for growth, storage, and energy needs.

2. Translocation is a process in which inorganic nutrients are transported from the soil to the plant leaves through the xylem vessels.

Which of the above statements are true?
Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1and2

4. ¥ Neither 1 nor 2

Question Number : 110 Question Id : 630680364521 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
&5 1808 57§D N0 HBAN BT HB0H0&:

1. HOTIFHO(Conjugation) eFE aso;%@oﬁsocs‘ 8323 D30 S 35 00O TE) B0, BEY S DOV 6 DeNSVT
2T BE HOGPONEO T° ST BOCE) 23°$TOOAI® ST s0C3S 23S DTTQ0 SET A TOHRSI0A. HOTIFHO ST
D), S9TSS DNA 9e0) B 0288 20O EOB &0n0d.

2. HOTBFHO OO (EFSIBE.S 9T 2.8 (HBAHEN, B BOF 2 sEBA® S0¢55 DNA TBg), (96558, 00D A
[eJOINHOWN

3. ETS)GES 9O 2SO 2305 A TNEY 28 DA, 1) s 23 sSBAST DNA 28 288090 OB &
2780057 %) e sEB AR (27BN FE BER) 500 20O TAHDWSB0E. DOELE IO, £)
wé@&ﬁpa&» 0 FEOE 363 O 50 DNAS 23600 2388 A5® DNAD 2rs§ S0, B 2758808
2BR5HO BB 2588058 28 TOHEAE TBBNOA.

Options :

1. % 1 08050 2 S3°(eh %

2.9 1 D805 3 So(ehad

3. % 3503

4. % B30 1

Question Number : 110 Question Id : 630680364521 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements and mark the correct one:

1. Conjugation is a mechanism of horizontal gene transfer in bacteria where genetic material is transferred directly between two bacterial
cells through a physical connection called a pilus. Conjugation often involves the transfer of plasmids, which are small circular DNA
molecules.

2. Conjugation and transduction are the same processes, both involving the direct transfer of DNA between bacteria.

3. Transduction is a method of bacterial gene transfer where bacterial DNA is transferred from one bacterium to another by a
bacteriophage (a virus that infects bacteria). During the infection cycle, some bacteriophages may accidentally package bacterial DNA
instead of their own DNA, leading to the transfer of bacterial genes to other bacteria.

Options :

1. % Only 1 and 2
2. % Only 1 and 3
3. % Only 3

4. % Only 1

Question Number : 111 Question Id : 630680364522 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 1808 BSOS IO HBIE?

A. S 1 S78)E (B0 I BSFNS (8¢5 D aDo.

B. Q0IE7S : DODE S MRNAS &0503S °S-8B 0N eod|ESren.

C. ). FED : 2305 0N BPQ), AANO(EB0T JT°20.

D. BEE' : (¢3S @00 B8 H020080D® T80, RNA 2)_808 5°¢%.
Options :

1. % 330 A

2. ¥ 350D

3. % 3dw0 C

4. % 3300B

Question Number : 111 Question Id : 630680364522 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs is correct?

A. Exon : A complex of ribosomal proteins involved in translation.

B. Intron : Non-coding sequences that are retained in the mature mRNA.
C. Spliceosome : A structure that regulates gene transcription.

D. Ribosome : Structure involved in protein translation, not RNA splicing.

Options :
1. # only A
2.% Only D
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3. % Only C
4. % Only B

Question Number : 112 Question Id : 630680364523 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

) BERS 551858360 23059’ DNA DeTrededd 15°)0t3¢0, SOR0TIS0 S el EXOED HO DSBS,
2B SSET 30S 958856 B HABKS’ ST IOK TOBNOE?

Options :

1. % @388 &5¢5)058

2. % ron0d) cseb)058 ew

3. ¢ 8PS0 OO0 B €569 )0585en
4. % "0 c5e5)B858den

Question Number : 112 Question Id : 630680364523 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which type of mutation is caused by the insertion, deletion, or movement of DNA segments within a gene, often leading to changes in
gene expression or function?

Options :

1. % Spontaneous mutation

2. # Point mutation

3. ¢ Transposable element-induced mutation

4. % Induced mutation

Question Number : 113 Question Id : 630680364524 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R5°89,8-05P0HE (D280 A (PQNE0T & AT EOB &) 28 DGTJ0:
Options :

1. % 300 €¢5)8:58°0) RBDOIETIE SFANS S05ETFBY.

2. % 50¢) AHDE DOWEE 23050 35°¢0) TOA 28sye (GMOE).

3. % J0Epe 08B0 FBEL oD H0EBEG HASvewn.

4. ¥ I0EOS IOV ©F T DOTREITE €960 33S)5e%.

Question Number : 113 Question Id : 630680364524 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Marker-assisted breeding is a technique that primarily involves the use of:
Options :

1. % Chemical mutagens to induce mutations in plants.

2. % Genetically modified organisms (GMOs) to enhance crop yield.

3. # Traditional hybridization methods for crossing plants.

4. ¥ Molecular markers to select desired traits in plants.

Question Number : 114 Question Id : 630680364525 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

) BES DB ATN0 XA (BASrFOE |DTF0 S°H0E IV (DBF0S” ah|ehen §ea 20, N GOLT OB
gy, STO°55E9D (D2TVS0 TR D)5 ST )30 OB N0E?

Options :

1. % 5202¢3¢38 QDAS (¢3 & c50)

2. % 328 0338 2ADAS

3. % @8 5202338 YADAS

4. ¥ ©S VB8 IADIS

Question Number : 114 Question Id : 630680364525 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0

Which type of enzyme inhibition involves a regulatory molecule binding at a site other than the active site, leading to a conformational
change that affects the enzyme's activity?

Options :

1. # Competitive inhibition

2. ¥ Noncompetitive inhibition
3. ¥ Uncompetitive inhibition
4. % Allosteric inhibition

Question Number : 115 Question Id : 630680364526 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
L85 58103877 HOO0D (80 (DEEISDR NDS50B:

1. (2085 €565 3858500 e9E €55 105850 €9Q DENH2DT 23S DBOLIZ 25750 TONCHO &S DNA (S0
DT Sedoyen.

2. BOHTEN B BEIDAS S0¢3 5585850 DNAD ST T22)B00B0 B SrEc0 & ST° 206

&5 1858 TOZ SEHTOW, BE BIHO D DA (2O EOROTS 2305 XS YO0 OSNOE.

2 (DELIOS DA d230?
Options :

1. ¥ 1 0805 2 Bocsr

2. % 3300 1

3. % 335002

4. % 150 B 2 5 5°¢0

Question Number : 115 Question Id : 630680364526 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about induced mutations:

1. Induced mutations are changes in the DNA sequence that result from exposure to external agents, known as mutagens.
2. Mutagens, such as chemicals or radiation, cause induced mutations by directly damaging or altering DNA, leading to genetic changes
that can have various effects on organisms.

Which of the above statements are true?
Options :

1. ¥ Both 1 and 2

2. % Only 1

3. % Only 2

4. ¥ Neither 1 nor 2

Question Number : 116 Question Id : 630680364527 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 (808 BSOS A HBIE?

A. 508688e0: FOFond

B. 2>°$5(5°000 : POEB0

C. P08 DO 1 J|BIEH0
Options :

1. ¥ 3%0 C

2. % 33500 B

3.¢¥ 3300 A

4. % A SHBO0 B X(ebad

Question Number : 116 Question Id : 630680364527 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs is correct?

A. Hybridization : Polyploidy
52/68



14/09/2023, 11:28

B. Backcrossing : Fertilization
C. Mass selection : Chlorophyll

Options :

1. ¥ Only C

2. % Only B

3.4 Only A

4. % Only A and B

Question Number : 117 Question Id : 630680364528 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DBOV-DOBIS HaNES0 HOBEIOS &5 (0 HDOMEISEI a7°¢3 [0 TBNEY SOIESTOTE0 @8 YO R:

A. DOB-IS| VE BoB0A IS 98Ny

B. DBOV-0TS DaEB0 By, (0SB

C. OT=rd DBORV HBAN STE VOBWVIAT OB (3T PG
D. QOB DN 508050 &(BI5E 585 HO0D

Options :

1. % C,B,D, A

2.¥D,C,A,B

3.% A,C,B,D

4. % B A C,D

Question Number : 117 Question Id : 630680364528 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following events in chronological order of their significance in the context of the Michaelis-Menten Equation:

A. Development of enzyme-substrate binding model

B. Publication of the Michaelis-Menten equation

C. Determination of enzyme kinetics by Leonor Michaelis and Maud Menten
D. Recognition of enzyme specificity and catalysis

Options :

1. % C,B,D, A
2.¥D,C,A,B
3.% A,C,B,D
4. % B A,C,D

Question Number : 118 Question Id : 630680364529 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

08y A0E) G HOEA D2FTPOEL DED 8O AT TS Eared® TONERE &) ONO(EEOHRO DTS
2065565 P 0E?

Options :

1. % J(SS0(5red o 5o° e THEBS Bea

2. % ¥e9 ¢ 0T T° SO (9B

3. ¥ 2rENB )8 DO HOGM §FrAS-TBAS(D000233-e900233) DTOHO

4. % 55750 3 SO° DeES 5

Question Number : 118 Question Id : 630680364529 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which mechanism is primarily responsible for the long-distance transport of water and minerals from roots to the aerial parts of a plant?
Options :

1. ¥ Active transport of water through stomata

2. % Osmosis through cell membranes

3. % Transpiration pull and cohesion-adhesion theory

4. % Facilitated diffusion of water through aquaporins

Question Number : 119 Question Id : 630680364530 Is Question Mandatory : No Calculator : None Response Time : N.A Think

53/68



14/09/2023, 11:28
Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
D BEDS 882385 DOTITH S0 By en T BIE 5 JSBO(ETe&) BERON HIOAIN 58S OIS )5
OIAOH OIS XTBITON, $T° b 3°¢3Q 52 §& IZ0 FH0 HHEII"E) SDTAT CN?
Options :
1. % 50 8S
2. % FEBUITA
3. % 485
4. % CAM DGO

Question Number : 119 Question Id : 630680364530 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which type of photosynthetic pathway do plants open their stomata at night and fix carbon dioxide into organic compounds that are then
used during the day for the Calvin cycle?

Options :

1. #* The Calvin Cycle
2. % Photorespiration

3. % The C4 Cycle

4. ¥ The CAM Pathway

Question Number : 120 Question Id : 630680364531 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DEDBS), 0TS Fe TBNEY §.00EB0 52 DSSEE (&S 0L A e @IB8EIES0 o so° F°B.)
DOBAZ0 5°EENTNE VOB DE?

Options :

1. ¥ &SR

2. % 8% oz

3. ¢ 0 OB

4. ® 1085 -6-00)E G BRI

Question Number : 120 Question Id : 630680364531 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which enzyme is responsible for the synthesis of starch by catalyzing the transfer of glucose units to the non-reducing ends of a growing
a-glucan chain?

Options :

1. ¥ Amylase

2. % Sucrose synthase

3. ¢ Starch synthase

4. % Glucose-6-phosphate dehydrogenase

Question Number : 121 Question Id : 630680364532 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
B DPF & ST DeE3 BeT (HO0D (B80B 75752 9SS0 &:

1. 3B (D0 HOTZFHO, DOBIE sHAASN 2TEIBIE S ED0WES SN2, TS 200 B0
Q3 9620590 HOD0ZBI0 OO TPEIY P& FE8eBD eI e D020 FE 0 350> SBBL dBE0SS
D3 PO DIRNOA. 2B HE HS, BHHO D¢ SOTS D0 D3 DB TSSO T°ST° SBDES0R,
2O (DBEFO 2BA QIR WOB, [ &K T°5T° eI 208 N0,

2. &€ IDTBERDS Se7e> & ST° |8OIPRE ST SO [E HOZIDN0E.

2 (DELIOS A 2307
Options :

1. ¥ 330 1

2. % 3302

3. % 108050 2 Bodshw
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4. % 1520 B2 5°Q DA 520

Question Number : 121 Question Id : 630680364532 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about water transport through xylem vessels:

1. It is primarily driven by a combination of cohesion, adhesion, and transpiration pull. Cohesion of water molecules due to hydrogen
bonding and adhesion of water molecules to the xylem vessel walls create a continuous column of water from roots to leaves.
Transpiration pull, driven by the loss of water vapor from leaf stomata, creates negative pressure that pulls water upwards through the
xylem.

2. It occurs due to active transport by cells in the root epidermis.

Which of the above statements are true?
Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2

4. ¥ Neither 1 nor 2

Question Number : 122 Question Id : 630680364533 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SEPIBAR K80 (B0 57528 T93S50G:

1. ¢STBRIBAS 9D DO’ 283805 (DEOD, BOCHES’ ©38)28& BX0ES5CH0 BN 8&eaesds HOTFHEAD
D0OHOS 5°8)S HOASFTE I DI TOANCEO EOENOA.

2. OB BrDF) 5°8)S AT IREL 0N 3831238 220690 B IETHES) DI A DO, /A
0B MY DDISY0 DA 38 ST BN,

3. @OE @383 Mehed HON FH) SIS HOVHS” FETTVIBVAS D8 ST GOENOE, I DK
BB BB 8Ga23d5 HOTITHBODH DT, (D270 TR0,

2 T5EOS D HBIE?

Options :

1. % 350 1

2. % 3302

3. % 35003

4.9 1200050 3

Question Number : 122 Question Id : 630680364533 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about photorespiration:

1. Photorespiration is a metabolic process in plants that involves the uptake of oxygen and the release of carbon dioxide during
photosynthesis.

2. It occurs when the enzyme Rubisco binds with oxygen instead of carbon dioxide, leading to the breakdown of organic molecules and
energy loss.

3. Photorespiration is more prevalent under conditions of high oxygen concentration and warm temperatures, impacting plant growth and
overall photosynthetic efficieny.

Which of the above statements are correct?
Options :

1. % Only 1

2. % Only 2

3. % Only 3

4.4 1,2and 3

Question Number : 123 Question Id : 630680364534 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Match the following enzymes with their respective roles in the biosynthesis of starch and sucrose:

A, Sucrose Synthase L. Catalyzes the synthesis of sucrose from glucose and fructose.

B. Starch Synthase 2. Involved in the elongation of both amylose and amylopectin chains.

C. Amylopectin Branching | 3. Facilitates the branching of amylopectin chains in starch.

Enzyme
D. Fructose-1,6- 4. Catalyzes the conversion of fructose-1,6-bisphosphate to fructose-6-
bisphosphatase phosphate in sucrose biosynthesis.

Options :

1.¥ A-1,B-2,C-3,D-4
2. % A2 B-4,C-3,D-1
3. % A-3,B-1,C-2,D-4
4. % A4, B-2,C-3,D-1

Question Number : 123 Question Id : 630680364534 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
6y DB FEE 0308 2037R0ERNS" 81 308 JFDVD T Dowod FBOE VBTONod:

A. 20EE 20D 1. orE8 andoin HES o WEE Do EBYOSHOXOO.
B. 36y 0oBD 2. e9065°0 a0doI SDES Fenine FEhos)eS” ¢ otnod.

C oSDID grodol JoBan | 3. FroyS’ s HES Fendoo T o OBB00 S0,

D. DEE-1,6-D3 85 4. 2088 a0IR0EHHS’ HFE-1,6-DF YN HEE-6-FyET AroNED)
[=t1 e l=relenrablela g
Options :

1. ¥ A-1,B-2, C-3,D-4
2. % A-2,B-4,C-3,D-1
3. % A-3,B-1,C-2,D-4
4. % A-4,B-2,C-3,D-1

Question Number : 124 Question Id : 630680364535 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&3 (808 20LOS A HBIE?

A. IS (83 : 558.

B. 55800 (87¢3R0 : tHBES Savea.
C. 85750 : 8892355 SO (8A.
Options :

1. % 3320 A

2. ¥ 3300 B

3. % 330 C

4. % ABBAW C

Question Number : 124 Question Id : 630680364535 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs are correct?

A. Channel proteins : Hormones.
B. Carrier proteins : Active transport.
C. Aquaporins : Photosynthesis.

Options :
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1. % Only A
2.¥ Only B
3. % Only C
4, % A, BandC

Question Number : 125 Question Id : 630680364536 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

& (808 8892335 HOTZTHBOD TR 63°¢3 3D B9 OO DFAEBZ HODOHOD) STOEITHI SO
€908 )0&:

A. FETOITAS 0850 Q) (P30 55

B. 5 5 85

C.C4 85

D. CAM ((S"NBR0DS A& S0¢r2rd230) HHo
Options :

1. % B,C,A,D

2.¥B,A,CD

3.% A B,C,D

4. % D, C,B,A

Question Number : 125 Question Id : 630680364536 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following photosynthesis pathways in chronological order of their discovery and elucidation:

A. Photorespiration and its significance

B. The Calvin Cycle

C. The C4 Cycle

D. The CAM (Crassulacean Acid Metabolism) Pathway

Options :

1. % B,C,A,D
2.¥B,A,C,D
3.% A,B,C,D
4. % D,C,B, A

Question Number : 126 Question Id : 630680364537 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 A5 OBOD TB0EY & 536 58 S S IBT 2SS PTG E¢h ) TANDBISI0E?
Options :

1. % GFOJD

2. ¥ TCA 286 (¢35 aSrd& 286)

3. % QOB S frendd

4. % ATP 03089

Question Number : 126 Question Id : 630680364537 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

During which step of cellular respiration is carbon dioxide produced as a waste product?
Options :

1. # Glycolysis

2. ¥ The TCA Cycle (Citric Acid Cycle)

3. # Electron Transport Chain

4. ¥ ATP Synthesis

Question Number : 127 Question Id : 630680364538 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BASFES ©38)28S 2ehed (ROS) DB DSBS 2.8 3F|eh P, NADPH 50805 B R-5-370 )¢ ereh &3
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TONEE & ZBIEAD DA (B PNZOMT 2373 §d a0 E?
Options :
1. % 08B 085
2. ¥ 0 ) Do
3. % | 08°5:35°) 0D @38 )BV DY
4. % (€35 A& 8

Question Number : 127 Question Id : 630680364538 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which metabolic pathway is primarily responsible for generating NADPH and ribose-5-phosphate, while also playing a role in the
detoxification of reactive oxygen species (ROS)?

Options :

1. ¥ Glyoxylate Cycle

2. ¥ Pentose Phosphate Pathway
3. # Alternative Oxidase System
4. % Citric Acid Cycle

Question Number : 128 Question Id : 630680364539 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following primarily serves as structural components of cellular membranes, playing a crucial role in maintaining membrane
fluidity and integrity?

Options :

1. ® Triglycerides

2. ¥ Phospholipids

3. ¥ Steroids

4. % Waxes

Question Number : 128 Question Id : 630680364539 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

531808 ¢3S [DGTSOMT 869 ¢ 5T DT 2PN D TR BN, &S (96565 50 HBA5N D95
Sar0E NGB0 §e38 (¢ FROTD E?

Options :

L # (23
2. ¥ FIFHOJD
3. % QUPAN
R ESVININVIOW

Question Number : 129 Question Id : 630680364540 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TCA HE0 TB0EY (8O S05065S DT 577¢3 S°E)S ©e0:)e> Do S DAY (50065 908 0A:

A. DIFJBIED; B. JI75e00E; C. O8ITE; D. S5 SES.
Options :

.¥A>D>C>B

2.¥ B>C>D>A

3. C>D>A>B

4, %# C>D>B>A

Question Number : 129 Question Id : 630680364540 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following intermediates of the TCA cycle in decreasing order of their carbon atom count:

A. Isocitrate; B. Fumarate; C. Succinate; D. Malate.
Options :
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.¥A>D>C>B
2.%¥ B>C>D>A
3. C>D>A>B
4. ¥ C>D>B>A

Question Number : 130 Question Id : 630680364541 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SO TS (BHFSDNR) DELE SO TG BT (DIBOHS’ S| 523D-2EEGeD 258805 T $0° &b ) TAHDAS
FED 285 BNEY (PPN DO De3?

Options :

1. % 38 20BMHSO dFE0HE0

2. % e3 7089 REHNEIS0

3. ¢ 20D DEIHEFIE SODS

4. % FO5EE PG Ard0TIB0

Question Number : 130 Question Id : 630680364541 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the primary function of nod factors produced by nitrogen-fixing bacteria in the process of nodule formation on the roots of
leguminous plants?

Options :

1. ¥ Inhibiting root growth

2. % Enhancing water absorption
3. # Stimulating nodule formation

4. % Preventing pathogen invasion

Question Number : 131 Question Id : 630680364542 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ee9 FAAOY), $69 D25 (512 0TITE DO €350 DBAW DO F°e9 AT BEIZ BELOS Q FES
LPANEOTT 23755 N0 E?

Options :

1. ¥ &38)Q)

2. % 820,898

3. % 88

4. % 9608

Question Number : 131 Question Id : 630680364542 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which plant hormone is primarily responsible for promoting cell elongation, cell division and the prevention of leaf and fruit abscission?
Options :

1. ¥ Auxins

2. ¥ Gibberellins

3. ¥ Cytokinins

4. % Ethylene

Question Number : 132 Question Id : 630680364543 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS TCED DO TIOTSE 0NN 50¢3 225D020E 2B FHL D305 DOHO(SB0THBOS’ &
[0EY DEYLOOR 908 (DGO 2l 0EN0E?

Options :

1. % 2SO0

2. % FOID

3. ¢ 205 A&

4. % rOHYOF 80
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Question Number : 132 Question Id : 630680364543 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which plant signaling molecule is primarily involved in regulating responses to biotic stressors, such as herbivore attacks and pathogen
infections?

Options :

1. ¥ Brassinosteroids
2. % Polyamines

3. ¢ Jasmonic Acid
4. % Salicylic Acid

Question Number : 133 Question Id : 630680364544 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Eea FPQ8EBED HBOD 180G (DEEISO TS50 B:

1. 89 Q88 B0 O 2.8 B TBNE, 28 2760 OB HFETAE See> EADEN HrDN0A.
2. 869 P85S 0T Ee7ed 2T RE HOSTETR), PO TWNEFITAE SS(H3) SNVITOIE.

2 TFEOS DO Deh50?
Options :

1. % 10805 2 Bocskw

2. % 3301

3. % 302

4. ¥ 150 S 2 5% 57D

Question Number : 133 Question Id : 630680364544 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about cellular localization:

1. Cellular localization refers to the movement of cells from one part of an organism to another.
2. Cellular localization is only important for understanding the physical size of cells.

Which of the above statements are true?
Options :

1. ¥ Both 1 and 2

2. % Only 1

3. % Only 2

4. ¥ Neither 1 nor 2

Question Number : 134 Question Id : 630680364545 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ABOS HBODS & 180A TTEDOD TIHS0G HBAM DB, HB00&:

1. 28OS 0T BNELe SFES, A DO DO, B0ELO SYTTSO DN 2.BBE (HB)0SS EOROTIBOS'
055 DA FBEE IDEHO ATHOB0TIH0S §eE (¢h FAN0A.

2. 3O 2,8 S O IFETEIS, A 89 S 5T T 07 a5 TWOLNA0E, B 08> DM SHOAN
DY DN $0H0 BANEE 1K), O 0N €£0YT D TN NN,

3. DBS0 05T 18, S NN, €350 Eéh SHBA HNYOT (HEAND BODS (H27VS0 T HTs93ed
S50 OB DB SHBAKN (296305 BoB0e3E 8 DOHo(HE0T BXOE.

Options :

1. % 1 0805 3 Bockr

2. % 1 083 2 Bockr

3. % 3500 1

4.9 1,2 00050 3

Question Number : 134 Question Id : 630680364545 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
Read the following statements about ethylene and mark the correct one:

1. Ethylene is a plant hormone that plays a crucial role in regulating various physiological processes, including fruit ripening, senescence,
and response to stress.

2. It is a simple gaseous hydrocarbon that can diffuse through cell membranes, allowing it to act as a signaling molecule to coordinate
plant growth and development.

3. Ethylene influences processes such as seed germination, root development, leaf abscission, and flowering, making it a key regulator of
both growth and responses to environmental changes.

Options :

1. % Both 1and 3
2. % Both 1 and 2
3. % Only 1

4.4 1,2 and 3

Question Number : 135 Question Id : 630680364546 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following plant hormones with their corresponding roles in plant growth and responses:

A. Brassinosteroids | 1. Promotes cell elongation and differentiation; enhances stress tolerance.

B. Polyamines 2. Involved in flowering, fruit development, and seed germination.

C. Jasmonic Acid | 3. Mediates defense responses against pathogens and herbivores.

D. Salicylic Acid | 4. Regulates growth, development, and senescence; influences flowering time.

Options :

1. ¥ A-1,B-2,C-3,D-4
2. % A-2,B-4,C-3,D-1
3. % A-3,B-1,C-2,D4
4. % A-4,B-2,C-3,D-1

Question Number : 135 Question Id : 630680364546 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2008, DADEL BT DANEGHVS” 0d 2L TB)YH TO Dowode FPOEF LBT ool

A. graiSoranty | 1. sto aioe), rdfosy 2ndain Deseedad FEnaraod; 2,AE DIPPD) DoBD.
B. rdznden 2. Lpanysoe, Hog D) 0B0ID DB 0T e AeS* ¢ ot0d.
C. w‘ﬁi‘ébﬁ 3. g5°6S SHOGIN TEDALOE SIS GLE DARNOGHVD AR B00d.
airé
D. >B0D5 4. DOXDLOO, BDDE ABOID HYTFD) DDLOBROE; LPANYOD DAOIFI) PaFDGo
aiFas Do,

Options :

1. ¥ A-1,B-2, C-3,D-4
2. % A-2,B-4,C-3,D-1
3. % A-3,B-1,C-2,D4
4. % A-4,B-2,C-3,D-1

Question Number : 136 Question Id : 630680364547 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
808 80LOS” DO HBIE?
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A. DS 88569 : FBES 0B BB aFreredSe FES BT S8 )50,
B. SIE3D3AS: 9350570 03’ BT S3S)c80.

C. BAEIDTAR: TeIBea D323 @RI 55785 )22 IS0,

Options :

1. % A 0805w C Bo&ky

2. % A B0 B Doy

3. ¥ 3500 B

4. % 3¥e0 C

Question Number : 136 Question Id : 630680364547 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following pairs are correct?

A. Nitrogen fixation : conversion of nitrate and nitrite into atmospheric nitrogen.
B. Nitrification: conversion of ammonia into nitrate in soil.
C. Denitrification: atmospheric nitrogen is converted into ammonia.

Options :

1. ¥ Both A and C
2. % Both A and B
3.4 Only B

4. % Only C

Question Number : 137 Question Id : 630680364548 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
©8)S® 55 DSBS’ 9 DBV 1808 35 e3&5ed (500 908 0H:

A. (S HoH© (§ASrIeres

B. @8R [Trsee50 208090

C. 829 GH0Y 0BAN BB (DD YOS
D. 2808 0025 DI ASFEIAS
Options :

I.¥B<D<A<C

2. % A<B<C<D

3. % D<C<B<A

4, % A<C<B<D

Question Number : 137 Question Id : 630680364548 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following steps in the mechanism of action of auxins in ascending order of occurrence:

A. Activation of proton pumps

B. Binding to auxin receptors

C. Cell elongation and growth response

D. Activation of secondary messenger systems

Options :

.¥B<D<A<C
2. % A<B<C<D
3. # D<C<B<A
4. % A<C<B<D

Question Number : 138 Question Id : 630680364549 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
& 1808 B0 FFFIND 7¢3 e G 0O DFEEBE TINEY STOEITDORTE0 @X0E)0S:

A. rOSTRTONGY , B. O, C. 27T aird&, D. rOJOT OSrd&.
Options :
1.¥B,A,C,D
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2.% A,B,D,C
3.%¥D,C,B,A
4.% A,C,D,B

Question Number : 138 Question Id : 630680364549 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following plant hormones in chronological order of their discovery and elucidation:

A. Brassinosteroids, B. Polyamines, C. Jasmonic Acid, D. Salicylic Acid.
Options :

1.¥B,A,C,D

2. % A, B,D,C

3.% D, C,B A

4. % A, C,D,B

Question Number : 139 Question Id : 630680364550 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3B BBAS OTE |PAWE0T AA (D270 T (D(E%:
Options :

1. ¥ &EPHSE0 (HDOI0BST 90T G000,

2. % 520838 DB )0BST DSBS 0BT e yed.

3. % Qe3 ©2558550 D30 JORIM €350 0N B.

4. % FAE TTONOE (DD )0RIT FE 0SS,

Question Number : 139 Question Id : 630680364550 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Vernalization is a process that primarily influences:
Options :

1. ¥ Flowering time in response to temperature.

2. % Seed germination in response to light.

3. % Leaf development in response to water availability.

4. % Root growth in response to nutrient levels.

Question Number : 140 Question Id : 630680364551 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

8 BT DR TORERE 2.8 D) D 90 TNEY DT, QEF Qe E:
Options :

1. % 80 D23

2. % enserd ANBITHAS

3. ¢ SEFBY

4. % 28308 )OO0 » 0

Question Number : 140 Question Id : 630680364551 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ability of a single undifferentiated cell to develop into a complete organism is referred to as:
Options :

1. % Cell division

2. % Cellular differentiation

3. ¥ Totipotency

4. % Genetic recombination

Question Number : 141 Question Id : 630680364552 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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PX7¢38 D0EBESETIE H00HOD 08 TS DB DE?

Options :

1. % PF57¢38 H08085690 9 2.3 23738 TWOAD IELe NS BRI,

2. % PFSre38 H0EBEBE0 TINEY (BIPODE GTFS0 23008 DB DEBT REFO DgoTNE.
3. ¥ FSre38 H0EBE5806” GIOTBrAOT O § TS DO (TR Hrsss.

4. % e85 H05858e0 0IE § aHESe D252 D0SE)0S 2305 DTS SrEIG TYoA.

Question Number : 141 Question Id : 630680364552 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about somatic hybridization is correct?

Options :

1. ¥ Somatic hybridization can only be performed between plants of the same species.
2. # The primary aim of somatic hybridization is to generate genetically identical plants.
3. ¢ Protoplast fusion is a common method used in somatic hybridization.

4. % Somatic hybridization relies on the exchange of genetic material during meiosis.

Question Number : 142 Question Id : 630680364553 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SEYBBAS 80D &5 (80 55 HS50B:

1. I8, BBAS 9T 5708 S35’ 53250 10E0 (DO BnExe0 665 S& Bencd H2rexn TREHS DED.
2. BB SBAS B0ELOD 9O a5 B0 BTN T°ST° & 8 HA)OTET RO,

2 TS DO J80?
Options :

1. % 33001

2. % 35002

3. % 1080% 2 Bockr

4. ¥ 150 B 2 520 A 570

Question Number : 142 Question Id : 630680364553 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about vernalization:

1. Vernalization is a process where plants adjust their growth rate in response to changes in light duration.
2. Vernalization accelerates flowering in plants by exposing them to high temperatures.

Which of the above statements are true?
Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2

4. ¢ Neither 1 nor 2

Question Number : 143 Question Id : 630680364554 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
eN5erd ANBIITDAN B0 &8 (BOA S5 ©33508:

1. 200878 AHNTIITHAS ©TE A DN HOAN OF TS (DBLEDS DS E5°enT @0S5yB TOT (D(E0%.
2. 200578 AHNBAYTNAS @A AV 22059 (§ASrFIS DO DS 3 So° 2B, B DD ¥
QT®ETEN DA DENXD DB IBNOH.

3. 20570 BHNTAYTINS AT RIEOMT SO0 OO BRDINBRD SPESTOT (DTRHO 5°C0.

2 DEOIOS A d230?
Options :
1. ¥ 1 8050 2 S(hadd
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2. % 1 B0 3 So(ehad
3. % 335003
4. % 12080503

Question Number : 143 Question Id : 630680364554 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about cellular differentiation:

1. Cellular differentiation is the process by which unspecialized cells develop into specialized cell types with specific functions and
characteristics.

2. Cellular differentiation is driven by the activation and repression of specific genes, which guide the formation of distinct cell structures
and functions.

3. Cellular differentiation occurs randomly and is not influenced by genetic factors.

Which of the above statements are true?
Options :

1. ¥ Only 1 and 2

2. % Only 1 and 3

3. % Only 3

4. % 1,2and3

Question Number : 144 Question Id : 630680364555 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&1 1808 ¢3S° 0B 23eh H80S0G:

A. BrDF): 8892355 SoZ@HIEAD

B. €9 85325 28Q180%: 3255180

C. 335825 SHBA B : 82 5 (HI80H
D. EIV: (O DOBe

Options :

1. % A 8asw D oty

2. % B OO C Bocskr

3. ¢ A B C Body

4. % A HBAW B Bocky

Question Number : 144 Question Id : 630680364555 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mark the correct pair among the following:

A. Rubisco: Photosynthesis

B. Cell Wall Digestion: Respiration

C. Invertase and Zymase: Fermentation
D. Pectinase: Osmosis

Options :

1. % Both A and D
2. % Both B and C
3.+ Both A and C
4. % Both A and B

Question Number : 145 Question Id : 630680364556 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BB S 03O A FH0 &HTITAOT Jr03edEd:
Options :

1. % £6923°0 580 GHTITPAOD) RBNELE BHN0BS (DOB€0.
2. % J0Eyed tred)ed D0 &3 DS coeh ).

3. ¢ e 38090 Gl (15 & 2863 DY), DoB§.0dcko.

4. % &0% EHBOHO 55 IB RBHDGTIC0.
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Question Number : 145 Question Id : 630680364556 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cryopreservation is a technique used for:

Options :

1. ¥ Rapid propagation of plants using tissue culture.

2. % Production of artificial seeds for plant propagation.

3. ¢ Preserving biological material at very low temperatures.

4. % Enhancing the production of secondary metabolites.

Question Number : 146 Question Id : 630680364557 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0OE HoWSS DO EFrFoSOETIE O DNA (363 DRB0NEAE O NP H5FEEN0E ?
Options :

1. % DNA 235300

2. % DNA 2000 (20¢30h

3. ¢ rONT BS BATES (PCR)

4. % 23305 Qe300

Question Number : 146 Question Id : 630680364557 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which technique allows for the amplification of a specific DNA sequence to generate a large number of copies?
Options :

1. ¥ DNA sequencing

2. % DNA fingerprinting

3. ¢ Polymerase chain reaction (PCR)

4. % Gene editing

Question Number : 147 Question Id : 630680364558 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 §B80H0 P RVONS ) 9T ELOS” A EDA0T o DT 1DVE TOAS 2.8 TN} FsOSELO0.
Options :

1. % 3o ersE805r 2.3OFIEI. SB)S08.

2. ¥ 05,0 158 S 50 [0 R0A.

3. % 08080 SEEDS e38)S) oeh ).

4. % J0ErOS (HTTFBIEERS DT, (85 )ar0d.

Question Number : 147 Question Id : 630680364558 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Agrobacterium tumefaciens is a plant pathogen known for its ability to:
Options :

1. ¥ Cause bacterial wilt in plants.

2. % Induce crown gall disease in plants.

3. # Produce toxins harmful to plants.

4. % Promote beneficial symbiosis with plants.

Question Number : 148 Question Id : 630680364559 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FIS &¢5) (§IS [FIRAS) HB0D &2 (0B FSE 93508

1. DB GHTIPAOD B0ELED (TS0 TR DEAND SIS |FPHBAS 90ErEd, HOSOT ST doersosS
2305 DS DBAW JAGIRY), NSNS0,
2. §3S [POBAS 0O IO 9B0AE YRS )E DA, RO’ Srehy RS, S Foeh 2rml) BeISOM 2.8
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DS DOBS0 €reh 18 TONTRE ErdTBRAT S, &8 (DEOD STehy) BEy 0B 5O )S ©F e7en §¢d Jng e
BBDEHDDE0N AT ENOA.

2 5SS DO Hehg0?
Options :

1. % 33001

2. ¥ 335002

3. % 1080% 2 Bockr

4. % 150 B 2 5 520

Question Number : 148 Question Id : 630680364559 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Read the following statements about clonal propagation:

1. Clonal propagation is a process where plants are propagated using seeds, allowing for genetic variation and diversity in the resulting
offspring.

2. Clonal propagation is a method of asexual reproduction in plants, where a portion of the parent plant is used to generate genetically
identical offspring. This process ensures that desirable traits from the parent plant are preserved in the new plants.

Which of the above statements are true?
Options :

1. % Only 1

2. % Only 2

3. % Both 1and2

4. ¥ Neither 1 nor 2

Question Number : 149 Question Id : 630680364560 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mark the correct pair among the following:

A. Genomic imprinting: where certain genes are expressed differently depending on whether they are inherited from the mother or father.
B. Epigenetics: investigation of heritable changes in gene expression that do not involve alterations to the DNA sequence itself.

C. Functional genomics: involves three-dimensional structures of genes and their regulatory elements.

D. Structural genomics: examination of gene activity, interactions and regulation on a genome-wide scale.

Options :

1. % Only A

2. % Only D

3. ¥ Both A and B
4. % Both Cand D

Question Number : 149 Question Id : 630680364560 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

& 1808 ¢3S° DB 23eh H800G:

A. BT 20(D0e30M: AR 2305900 SO Sz $0(B N0 TEIS O ST YOI S ORI TSI
SENIVETOW.

B. DDBAEE): DNA DTS S S350 080 SYBE0T 0T SOFIE0DES 23805 558850 Ty ST
C. HOEIS BSWEY: 23055 TZNEY |BDEBOH AT"ETEN sHOALN T°¢3 DODO|HET LOF°EN GOLFON

D. Q0678528 BS'aNE): BSed- S HEVR B0S 5E580, DB )S TIE5e0 0805w dAHO(ghed Ty DS,
Options :

1. % 33500 A

2. % 330D

3. ¢ A B3 B e Bocky

4. % CHOON D e Bodky

Question Number : 150 Question Id : 630680364561 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 2 Wrong Marks : 0
3| F2r§8OH0 DACTITR 5 (808 HONEIIOXD €3 |05 T3NE), FOEIFDHTE0 NS 08:
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A. &[[T2r880H0 PRI DVONS I 28 DNE), TSOSEEOTT S0
B. 300830 §90 eo|fer§8090-59¢3558 65 § 23008 20O D50
C. Ti 026 By D¥QESE BN 2308 a&é)@" T (b
D. 230§ 2023800 085N BB @28’ @Lﬁsarééoﬁoo Q308 AAA3FH0.
Options :
1.¥ A, C,B,D
2.% C,A,B,D
3.% AB,C,D
4. % B C,A,D

Question Number : 150 Question Id : 630680364561 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the following events in chronological order of their significance in the context of Agrobacterium:

A. Discovery of Agrobacterium tumefaciens as a plant pathogen

B. Development of Agrobacterium-mediated gene transfer for plant transformation
C. Elucidation of the Ti plasmid and its role in genetic transfer

D. Utilization of Agrobacterium in genetic engineering and biotechnology.

Options :

1.¥ A C,B,D
2.% C,A,B,D
3.% A,B,C,D
4. % B,C,A,D
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